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Sub-Section 1d: 167943639
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 16794310298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Three years ago, the average age of a family of five members was 20 years. A baby having been born, the average age
of the family is the same today. Find the age of the child.

Options:
% 1 year

g 2 years
o O years

w O years

Question Number : 1 Question Id : 16794310298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A W Tge, 9T HEEAT % GNER H AET 3G 20 A | UH q=2 F AeA & G, ;A # 3H
qiaR $r HHd g 20 W & g1 =4 3H TN

Options:

w1 I

% 2 99
» 5 J¥
% 6 FT

Question Number : 2 Question Id : 16794310299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You are given two statements and two conclusions. Identify which of the conclusions logically follow(s) from the
statements.

Statements:
All boats are poles.
No pole is house.

Conclusions:
I. Some boats are houses.
II. Some houses are poles.

Options:
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% Only conclusion I follows
% Only conclusion II follows

% Both conclusions I and II follow

« Neither conclusion I nor IT follows

Question Number : 2 Question Id : 16794310299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3TTeRT 31 Fure 3T o Teey Bw oiv & o7 99 = F wiF o Teey fust wrafes s o
HTEIUT HLAT/FL /e |

ICLIGH

Tl AT 4 2
FIs gF T 7L &l
T

. & @ W &l
. 5 W 4= ¢l
Options:

, Pa sy | FHTETOT Tl gl

, Pa sy 1l HFEIUT Ll gl

, T | v | @ 3EROT R ¢

7 a v | 7 & e || sreRer #ar

Question Number : 3 Question Id : 16794310300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If Kesav is the brother of the son of Kumar’s son, then how is Kesav related to Kumar?

Options:
% Son

« Grandson
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% Father

% DBrother

Question Number : 3 Question Id : 16794310300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T 3T FAR & T & IF #1 A3 g, a1 HUT F FAX § F1 {9 g7

Options:

% ST

*;,'?'-ﬂ?lT
% Tar
x TS

Question Number : 4 Question Id : 16794310301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Arthi’s college bus is facing North when it reaches her college. After starting from the bus stop in front of Arthi’s house,
it turned right twice and then left before reaching the college. What direction was the bus facing when it left the bus stop
in front of Arthi’s house?

Options:
# East

« West
# South

% North

Question Number : 4 Question Id : 16794310301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

S R A FlAST FH Florel TG A SHH HZ Seck H RWE A1 HRA F W F FHES T FH R
¥ e & 9, 59 & 9% 1% RS A AR B Foe g § 9 9% AR g AR F W F
AR ITer 780 9 ¥ e 777 5@ &1 g8 e fear 7 ar

Options:

ECl

oo
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Question Number : 5 Question Id : 16794310302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

AXE : GRIND : : PEN :

Options:
« WRITE

# READ
# PAPER
# STORY

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 5 Question Id : 16794310302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
30 REed # w397 F A GW oeg § 3 TE FA0d g, Y GET e TE oo W Haad ¢

?:hc»slgr: FICAl [ FHAH

Options:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 6 Question Id : 16794310303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following diagrams correctly represents the relationship between Lion, Wolves and Animals?

Options:
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Question Number : 6 Question Id : 16794310303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TeelT # ¥ Fi9 @ g O, 843 3t F90 F f9 F g9y F1 5d sREte w1

Options:

#®

(S

Question Number : 7 Question Id : 16794310304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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In the following question, there are two statements labelled as Assertion (A) and Reason (R). Choose the correct
alternative about them.

Assertion (A):
Copper is used to make electrical wires.

Reason (R):
Copper has very high electrical resistance.

Options:
« A 15 true but R is false

% A is false but R is true
» Both A and R are true and R is not the correct explanation of A

% Both A and R are false

Question Number : 7 Question Id : 16794310304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ao @a wea &, 3f¥ea (A) 3K #ror (R) & &9 & & fue e ov &) 39 a7 7 @er Fwea
|

AFFpaT (A):
ae & 39T fEgd ar sa e % e fRar S g

FOT (R):

s e aga o e e 21
jtfs%mmﬁm%

« AToT § ofhT R W8T &

« A 3R wem ¥ 3k R A #r w8 sare a6 ¢

« AT RS T g &

Question Number : 8 Question Id : 16794310305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Which one of the words given in the options CANNOT be formed by using the letters of the word given below, as many
times as one wishes?

PRINCIPAL
Options:

# CRAP
« PRINCE
# PLAIN

# APRIL

Question Number : 8 Question Id : 16794310305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
=@ oeg & 36T & 39T g 9 =g 3% 8 fT 710 =91 ReFeal # ¥ =9 a1 ReeT agt
FATAT AT Hehl?

PRINCIPAL
Options:

x CRAP
« PRINCE
% PLAIN

% APRIL

Question Number : 9 Question Id : 16794310306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the missing number in the following series.

0. 7, 26, 63, , 215, 342
Options:
% 112
® 121

v 124

# 125
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Question Number : 9 Question Id : 16794310306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

f=fof@a sger 7 aityd §Ear a7

0, 7, 26, 63,
Options:
% 112
% 121
v 124

% 125

, 215, 342

Question Number : 10 Question Id : 16794310307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the missing number in the following.

25 36 81
9 49 16
4 64 1
10 2 14

Options:

« 21

® 25

# 30

# 18

Question Number : 10 Question Id : 16794310307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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ffof@a # seufta gear samT

25 36 81

10 ? 14

Options:

o 21
% 25
% 36

% 18

Question Number : 11 Question Id : 16794310308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Chicken’ is related to “Vegetarian® in the same way as ‘Liquor’ is related to:

Options:
# Drunkard

% Insane
« Teetotaler

% Foolish

Question Number : 11 Question Id : 16794310308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

o g ' RN ¥ #ed g, 9 & e e ¥ g 3

Options:

% QNTET
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Question Number : 12 Question Id : 16794310309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a certain code ENGLAND is written as AOHMBOE. How is FRANCE written in that code?

Options:
# BSBMDF

# GSBODF
« BSBODF

# BSBOBF

Question Number : 12 Question Id : 16794310309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e Tafas s &, ENGLAND & AOHMBOE fr@r =mar 1 3T asT 3 FRANCE & &% B r
FATTE?

Options:

» BSBMDF
» GSBODF
+ BSBODF

» BSBOBF

Question Number : 13 Question Id : 16794310310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Read the following information carefully and answer the question given below.
Akash, Barani, Varun and Deepak are sitting around a table and discussing their trades.

(i)  Akash sits opposite to tailor.

(ii)  Barani sits right to the carpenter.
(iii)  The cook is on the left of the plumber.
(iv)  Deepak sits opposite to Varun.

What are the trades of Akash and Barani?
Options:
% Tailor and Cook

+ Plumber and Tailor

« Carpenter and Cook

» Carpenter and Plumber

Question Number : 13 Question Id : 16794310310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

=T Sl FeuE@Ees 9¢ 3R &A= BT 710 997 # 3cR &

HTERTST, ST, TI0T 3T &9 U 29 & IRT 3N 8 g 3R 39 9RO == o | 2

(i) 3TeRTer St & WA J3T g
(i) ST AR @ a5 AR ST ¢
(iii) are= coEY * TE AT L
(iv) &r9er IET F FHA 3T ¢

HTRrer AT FTT F F47 IR 22

Options:

wﬂGﬁBﬂTaﬁEﬁ
v Ty A St
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Question Number : 14 Question Id : 16794310311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the similar pair for the following.

12
el
13

Options:

18 .
v 31’

15 &
x 18"

10 3
% 15’

25 -
% 36’

Question Number : 14 Question Id : 16794310311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TaoRe & P 7= S8 o=

12
13

Ty e

Options:
18 7

v 31’
15 &

% 18"

10

— .3
x 15"
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25 -
% 36’

Question Number : 15 Question Id : 16794310312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What will you do if you find an old man who has lost his road orientation?

Choose most appropriate response.

Options:
» Help him with some amount.

% Avoid the matter totally.

« Just show sympathy and give suggestion to contact the nearest police station.

» Collect the necessary information related to his destination and guide him accurately.

Question Number : 15 Question Id : 16794310312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IfE 3T U FEIEA F TS & ST IS TEAT S AT &, A 7T FAT FEN?
FEH 39GFT FATHaT |
Options:

3¢ $ T8 Sod HEG FA|

]

., A H I aE /oA &

, e R R Teean 9w wee ¥ 99 A & g &

3% 9T ¥ TIOT HE9TF AFSNET 9T e 3T 3T
v TEF T T ARG FET

Question Number : 16 Question Id : 16794310313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Find the missing character in the following.

A D H
K N
F ? M
Options:
® G
# H
o 1
® L

Question Number : 16 Question Id : 16794310313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ffof@e 7 seufta 3R @l

A | D H
K | N R
E ? M

Options:

% G

x H

|

% L

Question Number : 17 Question Id : 16794310314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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You are given two statements I and II. Choose the correct comment about the statements from the options below.

Statements:

I. The Government has imported large quantities of Toor Dal as per trade agreement with other countries.
II. The prices of Toor Dal in the domestic market have fallen sharply in the recent months.

Options:
" Statement I is the cause and Statement IT is its effect.

% Statement II is the cause and Statement I is its effect.

% DBoth the Statements I & II are independent causes.

% DBoth the Statements I & II are effects of some common cause.

Question Number : 17 Question Id : 16794310314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

et | 3R 11 2 fure few orw 81 A= Rw ow et & Rue & e 7w ool T+

ICAIGH

| TR & ¥ G F WY AR FAFIG F IFFAR T AT H NG H g HAST H
gl

. BTeT & & FEAT H HIANF I H 3G &7 F SHAq a=r ¥ B 78 &

Options:
» FUT | FROT § AT FUF || 3T FAT

» FUA || FOT HT FUT | FHET TH9T 2

. | 3T 1| ST FuT T=aT FROT £

, &t @ | AR || $T AT FROT & THE 2

Question Number : 18 Question Id : 16794310315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Gopal started from his house. walked 2 kms north. then 3 kms west. then 6 km south. How far away from his house is
he now?

Options:

# 3 kms
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« 5 kms

% 5.5 kms

Question Number : 18 Question Id : 16794310315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T 39 O F Aeperm, 2 freidEeT 3cax &t 307 e, fe 3 BT offas & g, Tt 6 AT efdor
#r 3| Feh 3EF W F 7 e T 2

Options:

% 3 AT
% 3.5 AT
» 5 T

% 5.5 AT

Question Number : 19 Question Id : 16794310316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How many days will there be from 260 January 2004 to 15! May 2004 (both days included)?

Options:
% 89

® 95
% 96

o 97

Question Number : 19 Question Id : 16794310316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

26 S 2004 W 1 AT 2004 I (@A &7 afFe F3F) aa T g
Options:

% 89
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% 95
% 96

« 97

Question Number : 20 Question Id : 16794310317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You are given a statement and two arguments. Select the argument that is strong about the statement.

Statement:
Should fashionable dresses be banned in our country?

Arguments:
[. Yes. Fashion keeps changing, hence consumption of cloth increases.
II. No. Fashionable clothes are a person’s self-expression and therefore his/her fundamental right.

Options:
% Only argument I is strong
» Only argument 1II is strong

» Both arguments I and II are strong

» Neither argument I nor II is strong

Question Number : 20 Question Id : 16794310317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T Fue R g 7% B ¥ A R v et & fue F B f9eg 7% 7 999 W

ICLIGH

FIT 3 3o H Infas Fus wfasfaa Grar arfee?

s

. 271 e seordr AT £ ar F93 Fr @ug 5T J1ar g

. 71N amyfee w93 frer cafea 1 areR sfa=a § 3R safow 38 Aifow JwR ¢

Options:
iL
. I JeF | T B
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» Fae TR || FeTET 2
« 2 g% | 3t aF Il a2 ¥
s TE Tw | AT & T Il F9=r &

Gereral Awarerness

Group Number : 2

Group Id : 167943298
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

General Awarerness

Section Id : 167943357

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943640
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794310318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who among the following lead the ‘1857 Revolt’ at Lucknow?

Options:
% Lakshmibai

% Kunwar Singh

% General Bakht Khan
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» Begum Hazrat Mahal

Question Number : 21 Question Id : 16794310318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fafof@a 7 @ e “1857 & g’ & a@aF # aAgea fohar ur?

Options:

. TEHEE
, P g

% Fedicl §&E] Wl

v STH TSRd #E

Question Number : 22 Question Id : 16794310319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who among the following was the founder of the Maratha Empire?

Options:
% Sambhaji Bhosale

» Chhatrapati Shivaji Maharaj
» BajiRaol

» Dalaji Baji Rao

Question Number : 22 Question Id : 16794310319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

faeg ¥ § 9 JUST §HT & JEU9Tes 97

Options:

wmm

v TFula e mEns

% aT=AT T |
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% ST ST T

Question Number : 23 Question Id : 16794310320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The song ‘Jana Gana Mana’ was publicly sung for the first time at:

Options:
» the Calcutta Session of the Congress

» the Lucknow Session of the Congress
% the Bombay Session of the Congress

» the Madras Session of the Congress

Question Number : 23 Question Id : 16794310320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T ‘FF TOT A F AR F9 F GgeAr S Hal AT AT AT?
Options:

 FEIF & Felehedl AT

% FEIT F TEIF AT

% FET & TF HEFH

« TR F HIE Hode

Question Number : 24 Question Id : 16794310321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
With which country does Nagaland share its international border?

Options:
# Bhutan
% Nepal

» Myanmar
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% China

Question Number : 24 Question Id : 16794310321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ANTeE fFH 2 & WY U AU HIAT HEAT 3T 872
Options:

% =9Tel
v FOTAR

Question Number : 25 Question Id : 16794310322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which is the state animal of Uttarakhand?
Options:

% Spotted deer

% Chinkara
« Musk deer

» Darasingha

Question Number : 25 Question Id : 16794310322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
3eRTES F A=A T3 FiA AT E?

Options:

« FedeRr faxor
» e
e feXoT

w” B,
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« TREMEET

Question Number : 26 Question Id : 16794310323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
has the power to make any law with respect to any matter not enumerated in the Concurrent List or State List.

Options:
» The Legislature of a State

« The Parliament
% The Prime Minister

» The Aftorney-General

Question Number : 26 Question Id : 16794310323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

I TH TR ATHS F WEY H FEA a4 H AR 9T ¢ oA Seo@ AT A A1 I97
T A A
Options:

« =T &r Fu=gsar
gm

% FUTTHAT

. FARTEITIETE]

Question Number : 27 Question Id : 16794310324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The first Chairman of the Council of States (Rajyva Sabha) was:

Options:
% Dr Rajendra Prasad

« Dr S Radhakrishnan

% Indira Gandhi
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% Neelam Sanjiva Reddy

Question Number : 27 Question Id : 16794310324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
=8 9REE (T=T THT) & 9gef JeUET Hia o7

Options:

 51. TH. TTHST

Question Number : 28 Question Id : 16794310325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
According to Article 170 of the Indian Constitution. the total number of elected members in the Legislative Assembly of a
State CANNOT be more than:

Options:
# 482

# 492

Question Number : 28 Question Id : 16794310325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TR Feu ¥ et 170 F e, 5 Us7 F Rue T F TEifa gewat #r oo wem
¥ ¥ agt @ ERar 2

Options:

% 482

% 492

+ 500
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% 485

Question Number : 29 Question Id : 16794310326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
When was Indira Gandhi Institute of Development Research (IGIDR) inaugurated?

Options:
# 1982

o 1987
# 1991

# 1993

Question Number : 29 Question Id : 16794310326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ST el Toehre 3@ FEAA (AMRAAGERR) FT FeUE FHa g o1?

Options:

% 1982

« 1987
% 1991

% 1993

Question Number : 30 Question Id : 16794310327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which country was ranked the first in the Global Optimism Index released as part of the Grant Thornton’s International
Business Report (IBR) in the first quarter of 20187

Options:
% India
% China

« Japan

« Austria
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Question Number : 30 Question Id : 16794310327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
2018 #Fr Jgair AN # TC didea Fr JATET AR Ee (IEEAR) & fEg & &9 & i fFe v
Wa‘ﬁmﬁwﬁ%ﬁwaﬁwmmg&nw

Options:
% AR

% SAHleA

o Hifegar

Question Number : 31 Question Id : 16794310328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Where is the Sundarbans National Park located?
Options:

» West Bengal

» Madhya Pradesh
% Chhattisgarh

% Uttarakhand

Question Number : 31 Question Id : 16794310328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Heae TS 3ea e oo & g @2

Options:

v 9fPgH T
% TET T

% 3cddlds
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Question Number : 32 Question Id : 16794310329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Bihu songs are the folk songs of which of the following states?

Options:
% Mizoram

» Nagaland
% Manipur

" Assam

Question Number : 32 Question Id : 16794310329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ﬁﬁmﬁﬁﬁﬁﬁﬁﬁ'ﬁﬁmuaa F o AT &7
Options:

% THIATH

szu'-l'l?ﬂ_cﬂ?
AOTIT

®_ 3

v HEH

Question Number : 33 Question Id : 16794310330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following dance forms incorporates the most intricate makeup code, costume, face masks. headdress and
brightly painted faces?

Options:
« Kathakali
% Kathak

% Odissi

% Sattriya

Question Number : 33 Question Id : 16794310330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
Tefof@a 7 & 9 ¥ 700 9=/ 7 w8 Jed FFT 13, 9wF, d@ & g, 839 AT THFER
= 3y afde e 2

Options:

» T
% chilch
« FfEEr
« T

Question Number : 34 Question Id : 16794310331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
India finished in the medal tally at the Commonwealth Games 2018.

Options:
% T,rl'h

% 4t

% 11

3 l'd

Question Number : 34 Question Id : 16794310331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HT o TSCHSS Tl 2018 & 9 diferer & T 9T T B

Options:
% HIdar

% =T

b

« TATEE

o E

Question Number : 35 Question Id : 16794310332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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As on 1 May 2018, India has

Options:
% 27

% 41

chess grandmasters.

GET IT ON
Google Play

Question Number : 35 Question Id : 16794310332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

1 A% 2018 I, T H

Options:

% 27

# 41

« b1

% 64

=T AEATEET o

Question Number : 36 Question Id : 16794310333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Volt is the SI unit of:

Options:

+ Electromotive Force

% Electric Charge

# Pressure

« lemperature

Question Number : 36 Question Id : 16794310333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Iee fFadr va.ams (S.0 unit) SFE &2

Options:
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% dldHld

Question Number : 37 Question Id : 16794310334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which year did ASEAN come into existence?

Options:
1967

# 1981
# 1954

# 1997

Question Number : 37 Question Id : 16794310334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
faara (ASEAN) 5@ a¥ 3fEgcT & 3mam ar?

Options:

« 1967
% 1981
% 1954

x 1997

Question Number : 38 Question Id : 16794310335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Chief Minister of Sikkim, Pawan Chamling, created history by becoming the longest-serving Chief Minister in India
surpassing 's record.

Options:
% Ramakrishna Hegde
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% Lalu Yadav
% Biju Patnaik

» Jyoti Basu

Question Number : 38 Question Id : 16794310335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fafFesn & gegad 95 IAfRT F 9Nd # §98 &9 FAT 9% HEIAN F 9g W g4 @A H SdEry
AT g 3T F N = O wT Bar 2

Options:

x THFT &1

., el T1ed
- 9

SO 99

o 2

Question Number : 39 Question Id : 16794310336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Union Ministry of Power has launched a Pilot Scheme for Procurement of Aggregate Power of on a

competitive basis for 3 years.

Options:
w 2500 MW

# 1500 GW
# 90000 W

# 4000 MW

Question Number : 39 Question Id : 16794310336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FET FAT FAET ¥ 3 a9 ¥ B gRwdt smer ¥ T T FT F T TH TG
TS & F g

Options:
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w 2500 MW
% 1500 GW
% 90000 W

% 4000 MW

Question Number : 40 Question Id : 16794310337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The number of international memibers in the National Committee for Commemoration of the150™ Birth Anniversary of
Mahatma Gandhi in 2019 is:

Options:
v 9

® 1

Question Number : 40 Question Id : 16794310337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

2019 # HErcAT el &7 15087 SIS & TAUICHT & o7 TSam FAfd § Jawrsay geaat &7 9 T ¢
Options:

v 9

% 1

Arithmetic Ability

Group Number : 3

Group Id: 167943299
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No
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Break time: 0
Group Marks: 20

Arithmetic Ability

Section Id : 167943358

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 17

Number of Questionsto be attempted: 17

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 167943641
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 16794310338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A number consist of two digits. The digit at tens’ place exceeds the digit at units® place by 4 and the sum of digits is
one-seventh of the number. What is the remainder when the number is divided by the sum of the digits of the number?

Options:
® 5

% 4
® 3

« 0

Question Number : 41 Question Id : 16794310338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
foreT EY 37T T HEIT T @S FT HF 3TF SHE & 3F T 4 ST ¢ AR ST 3 F O 5w v
TTaaT &7 # Oy gemHs F Ot § Rafag B 3 ar 9w greg g

Options:

® 5
% 4

% 3
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« 0

Question Number : 42 Question Id : 16794310339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

(47.53)2495.06x42.474(42.47)° 1 0.0016X0.25

The value of of - of 6.5 is:
(38.25)2—38.25x276.5+(138.25)¢  16.2  0.325x0.005

Options:
2
% 25

Question Number : 42 Question Id : 16794310339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

, (47.53)2495.06x42.474(42.47)° 1 0.0016%0.25

qh = 5 >
: (38.25)2—38.25x276.5+(138.25)2 of 16.2 0.325x0.05 of 6.5 &1 AT FIT EWT

Options:
2
% 25

Question Number : 43 Question Id : 16794310340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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1 2 4
- W  (49)Zx(512)%2°%x(8)%%% % (729)3 +(64)3
On simplification 1 reduces to:
(343)3x(256)~ 0375 %(g1)0>

Options:

% 1.25

% 1.5

225

¥ 2.5

Question Number : 43 Question Id : 16794310340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
= 0.25 0.25 £ =
. (49)Zx(512)7 " x(B)"="x(729)3+(64)3 5
=Tk - F BIA FIF 9T 9T AT F4T 827
(343)3%(256)~0375x(g81)05

Options:

% 1.25
% 1.5
v 225

% 25

Question Number : 44 Question Id : 16794310341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

1 [2 6 3
65 |gt(71)] !

G !
22)x34.(230f20)><16

The value of 7=
(63 :
Options:

21
# O
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Question Number : 44 Question Id : 16794310341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

i (r-22)

6§+2§) x32+ (2 iofED) %

e CT ( 1 & A F g7
o
Options:
1

2_
® 6

Question Number : 45 Question Id : 16794310342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Three fractions are written in ascending order. If the largest fraction is divided by the smallest, the result is% which exceeds
the middle fraction by % . If the sum of three fractions is 1 E . then what is the difference between the largest and smallest
fractions?

Options:

v 2

#®
N
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Question Number : 45 Question Id : 16794310342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T T IR FE A T g ST Tae 2 W Tea o A ¥ Rwlea o s g &
> e g € S R wew e @ L oser @ af e vt @ A 1 ¥ o me o ol T a
B & 9= 39T | B

Options:

1
2

B
e | =

Question Number : 46 Question Id : 16794310343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Let x be the least multiple of 17, which leaves a remainder 2 in each case when divided by any of the numbers 4, 6, 8. 10,

12 and 14. What is the sum of digits of X ?

Options:
# 32

® 25
% 19

o 23

Question Number : 46 Question Id : 16794310343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
IfE x 17 & T9@ BT IO § T TET 4, 6, 8, 10, 12 AR 14 ¥ Fenfow FE W Ew T # 2
N FITT &, A x & 3HT FT AT FAT BEM?

Options:

% 32

% 25
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% 19

23

Question Number : 47 Question Id : 16794310344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
When each of 3092, 4103 and 5451 is divided by the greatest number a . the remainder in each case is b. What is the value

of(a+b)?
Options:
# 337

Question Number : 47 Question Id : 16794310344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g FEaTT 3092, 4103 3T 5451 & U H0ar €01 g ¥ Fafew o 79 & v g &
AT b 9T BT 21 (a+b) F AT FAT FEW ?

Options:

% 337
% 357
% 376

v 396

Question Number : 48 Question Id : 16794310345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Income of A is equal to 70% income of B and expenditure of A is equal to 60% of B’s expenditure. If A’s expenditure is
equal to 50% of B’s income, then the ratio of savings of A to that of B is?

Options:

# 5:6

LA

o O
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b
LA
e |

b
-1
LA

Question Number : 48 Question Id : 16794310345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A & 3T B FF 31T F 70% F 3T A FT =T B & =TT F 60% Bl I A FT =T B F HT FT 60%

g at A 3R B & T9a &1 39a F41 grem?

Options:
xb5:6
«6:5
b :7
®7:58

Question Number : 49 Question Id : 16794310346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The average of eight numbers is 64. The average of first two is 53, the average of next three is 68, 6 number is 4 greater
than 7™ number and 5 less than the 8™ number. What is the average of 6™ and 8™ numbers?

Options:
% 69

# 71.5

o 69.5

Question Number : 49 Question Id : 16794310346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TS FEATHT &1 3HIET 64 &1 Igair &r TEITHT & 3Ea 53 3T 39y I I=arst &7 68 7 o8 &
e ¥ 4 JOF g 3T s A 5 FH g1 Tor AT S gt & itga Far g

Options:

% 69

% /1.5
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« 695

% 74

Question Number : 50 Question Id : 16794310347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A shopkeeper labelled the price of an article so as to earn a profit of 30% on its cost. He then sold it by offering a
discount of x % on the labelled price. If his actual profit is 17%, then the value of X is:

Options:
# B

« 10
® 12

® 15

Question Number : 50 Question Id : 16794310347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T GFER fhar T # Al qod 38 IER ¥ Alea a1 ¢ B 38 aeE 9T 30% F s 9o #
T 3Hfhd Hed W 1% FT e Eot aFg 99 & ¢ AN aEad A 17% & a1 FAT ol gl x F A
Ei

Options:

% 8

« 10
x 12

% 15

Question Number : 51 Question Id : 16794310348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The compound interest on a sum at 15% p.a. at the end of 3 years is ¥ 4167, when the interest is compounded annually.
‘What will be the simple interest on the same sum at the same rate and same period?

Options:
% < 3500

% T 3560
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« < 3600

% < 3640

Question Number : 51 Question Id : 16794310348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

forer ofer 97 15% 9fa a¥ #r T F 3 3 F7 THFgfE == T 4167 ¥ 79 =@+ 97 I HHfod @ 2
FFT W 9T 3 2T AT 397 & gAY ¥ A gerer sars Faar geme
Options:

% ¥ 3500
% < 3560
« < 3600

% < 3640

Question Number : 52 Question Id : 16794310349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A hollow sphere of outer radius 12 cm is cut into two equal hemispheres. The total surface area of one hemisphere is

2 22
1436 = cm? . What is the inner radius of the sphere? (use = ?)

Options:
+ 5 Ccn

1

5= cm
4

# 6cm

Question Number : 52 Question Id : 16794310349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e @rgrer ter &7 SEdr B 12 @8Rt ¢ 3t 8% o 3T o 7 Fre forar mar g1 v s v
0 BT A 14367 T A ¥1 A B e e w2 (1= 2)

Options:

JEﬁa?ﬁT:T
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, 5 de
% 6 HEHET

Question Number : 53 Question Id : 16794310350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Nakul starts his journey from a place A and Sukil starts his journey from a place B. towards each other. If the speeds of
Nakul and Sukil are 16 km/h and 25 km/h respectively and time taken by Nakul to reach B. after crossing Sukil on the

way, is 3 g hours, then how much time (in hours) will Sukil take to reach A after crossing Nakul?

Options:
i 1
v 4

13
4

%

11'?
% 25

116
x 25

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 53 Question Id : 16794310350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FFa IR Gieeer FFM: A T B § UF O F WS A TR Fd ¢ HT 37 a1y FAen 16 Frvge
3T 25 ﬁafrfa%%lWﬁmﬁmm#mﬁsaﬁqgwﬁd@maﬁ% U< o AT g1 ar
gﬁmﬁmﬁmmﬁ#mhmqﬁﬁﬁﬁﬁmmw

Options:
1 1
v 4

13
4

"
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11?'
x 25

116
x 25

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 54 Question Id : 16794310351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A is twice as efficient as B and together they can do a work in as much time as C and D together take to do it. If C and D
can do the same work in 10 and 15 days respectively, then in how many days can A alone do the work?

Options:
® 8

9
% 10

® 12

Question Number : 54 Question Id : 16794310351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Y &THAT A A, B & aren ¢ R i Aot E 1 # 3ae & fGA A X #@%d ¢ Shas & C
3T D 33 w1 T WEeT 9 F EmET| g C i D 36 i & 10 3w 15 fEA 7 FEen
T g dr A 35T 38 fFae & & 99e FEm?

Options:

% 8
+ 9
% 10

x 12

Sub-Section Number: 2
Sub-Section 1d: 167943642
Question Shuffling Allowed : Yes

Question Id : 16794310352 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
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Question Numbers: (55 to 56)
Juestion Label - Comprehension

Study the following pie chart and table and answer the question that
follows.

Percentage wise breakup of Students in different schools in 2008

Ratio of Boys and Girls

School | Percentage of students whose age
is 10 years or less

40

33

45

35

60

70

M D O ] e

HA HE EC =D NE BF

Sub questions

Question Number : 55 Question Id : 16794310353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the total number of students in all the six schools
was 15800, then by what percent. the number of

students in school A, of age above 10 years, was
more than the number of students in school E
having age less than or equal to 10 years?

Options:

% 20%
331‘}"
% 3 ?
« 30%
662‘}’
v 3 i

Question Number : 56 Question Id : 16794310354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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If the number of students in B and C together in
2008 was 4500, what will be the difference between
the number of students in D above 10 vears and that
in F below or equal to 10 years age?

Options:
® 270

GET IT ON
Google Play

Question Id : 16794310352 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (5510 56)
Juestion Label - Comprehension
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forrr aR-Te 3k &= &7 sremTe Y 3k e Tt &
3ol &
2008 # fafdler wpall # oEl &1 giderd

BA mE mC ED mE WF

agenl AR wsfeRal @1 e

THot | 10 99 AT 3HA &H 3H
arel orst &1 gieeE
A 40
B 38
C 45
D 55
E 60
F 70
Sub questions

Question Number : 55 Question Id : 16794310353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofE wefr oF Tl H ol & Fo wEAT
15800 § o Tl A # 10 a9 @ 31fdr 3y
& OIE HIUEA, T E F 10 9 & &7 I
I0E T OTF HT FET fhas gfgea &
fe grefr?

Options:
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% 20%
332%
% 30%

2
66-%

GET IT ON
Google Play

Question Number : 56 Question Id : 16794310354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

2008 # afg THel B #X C & T o
HEAT 4500 off & D & 10 99 ¥ 3 & SE
Frgear 3T F & 10 99 1 309 &5 35 &
TEr &7 TEAT F 3eay FAT g7

Options:

% 270

% 285

« 390

% 495

Sub-Section Number: 3
Sub-Section 1d: 167943643
Question Shuffling Allowed : Yes

Question Id : 16794310355 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (57 to 58)
Cuesticon Label | Comprehension
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Study the following graph and answer the question that follows.

Prdoduction of Crude Oil by different countries in
2005 and 2006 (in million barrels)

e 1005 w000

15 14
1‘%__,.—-/@"‘“ 12 12
. 5 10
» 11 11 10
9 2 B
5
0
A B C D E F
Countires
Sub questions

Question Number : 57 Question Id : 16794310356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The number of countries in which the amount of
production of crude oil in 2006 was more than 20%
as compared to the production in 2005, is:

Options:
v 2

® 3

Question Number : 58 Question Id : 16794310357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The production of crude oil by countries A and F
together in 2006 is x% less than the total production
of crude oil by B, C and D together in 2005, where
x is equal to:
Options:
« 20

® 22
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% 30

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Id : 16794310355 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Cuesticon Label | Comprehiension

= I #7 3emTs w3 T e F 3T

2005 3R 2006 # fafde=r &t camr F=a a9 F1 IcUeA
(Afems &= #)

Sub questions

Question Number : 57 Question Id : 16794310356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T frge g § TS 2006 H 3cUES 395
2005 & 3c9ea ¥ 20% =T ur?

Options:
2

x 3

# b

Question Number : 58 Question Id : 16794310357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

gelf A 3R F 2T 2006 & 3cofed = 2005
# B, C 3R D @1 3cwifed o ot & X%
HH AT X FT AT FT 87
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Options:

« 20

% 22

% 25

% 30

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Sub-Section Number: 4
Sub-Section 1d: 167943644
Question Shuffling Allowed : Yes

Question Id : 16794310358 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension

Study the following bar graph and answer the question that follows.

Total Number of different tvpes of Vehicles(in lakhs) exported
by a company in 2015 and 2016

a5
W2015 W2016

35
33 325
30 30 |
275
27 e
22.5 i
A B c D E

Tyvpes of Vehicles

35

2

(g

2
1
1

{5, N e R R =

Number of Units Exported (in lakhs)
=

Sub questions

Question Number : 59 Question Id : 16794310359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Total number of units of C and E type vehicles
exported in 2016 is what percent more than that of
D type vehicle exported in 2015?

Options:
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66

% 75

% 80

831
3

Question Number : 60 Question Id : 16794310360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The average number of units of A. B and D type
vehicles exported in 2015 is x% less than that of A,
B and E type vehicles in 2016. What is the value of
X (nearest to an integer)?

Options:
® 5

® 6

« 7

Question Id : 16794310358 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension
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Sub questions

Question Number : 59 Question Id : 16794310359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2016 # faoT &% =17 C 3T E #AiEe Fr
T &A1 2015 # D Asa & AT B aw
& & raar sfaea saer 27

Options:

662
% 3

® 71D

% 80

83

Question Number : 60 Question Id : 16794310360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

# b

% 6

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :

Break time:
Group Marks:

Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

eneral English

4
167943300
0

0

No

No

0

20

Ceneral English

167943359
1

Online
Mandatory
16

16

20

Yes

No

1
167943645
Yes

GET IT ON
Google Play

Question Number : 61 Question Id : 16794310361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Select the most appropriate option to fill in the blanks.

The Supreme Court said that Archaeological Survey of India “will have to be thrown out of picture™ if the
Taj Mahal has to be saved.

Options:
» the, the

% the. a
« an, the

% no word required, a

Question Number : 61 Question Id : 16794310361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate option to fill in the blanks.

The Supreme Court said that Archaeological Survey of India “will have to be thrown out of picture” if the
Taj Mahal has to be saved.

Options:
» the, the

« the a
« an, the

% nho word required. a

Question Number : 62 Question Id : 16794310362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate option to fill in the blank.

The pollution in the Yamuna has caused insect and algae infestation the Taj Mahal and other monuments
sitting on its bank.

Options:
% for

% behind

& On
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% above

Question Number : 62 Question Id : 16794310362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate option to fill in the blank.

The pollution in the Yamuna has caused insect and algae infestation the Taj Mahal and other monuments
sitting on its bank.

Options:

% for

% behind
& on

% above

Question Number : 63 Question Id : 16794310363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate option to fill in the blank.

This flyer doesn’t match the approved design. . vou are using sub-standard material.

Options:
+ Besides

# However
% Otherwise

% Nevertheless

Question Number : 63 Question Id : 16794310363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate option to fill in the blank.

This flyer doesn’t match the approved design. . vou are using sub-standard material.

Options:
«+ Besides

# However
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% Otherwise

% Nevertheless

Question Number : 64 Question Id : 16794310364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate option to fill in the blank. Answer suitably according to the given question.

Will you tell the neighbours vou will be away for two weeks?
I them already.

Options:
% will tell

% will have told
« have told

% tell

Question Number : 64 Question Id : 16794310364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate option to fill in the blank. Answer suitably according to the given question.

Will you tell the neighbours yvou will be away for two weeks?
I them already.

Options:
% will tell

% will have told
« have told

% tell

Question Number : 65 Question Id : 16794310365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate synonym of the given word.

LOSE
Options:
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» misplace
% hide
% search

% find

Question Number : 65 Question Id : 16794310365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate synonym of the given word.

LOSE

Options:
» misplace

% hide
# search

% find

Question Number : 66 Question Id : 16794310366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate synonym of the given word.
EMULATE

Options:
« forgive

« 1mitate
« lorget

% pursue

Question Number : 66 Question Id : 16794310366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Select the most appropriate synonym of the given word.

EMULATE
Options:
i forgive

« imitate
 forget

% pursue

Question Number : 67 Question Id : 16794310367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the most appropriate antonym of the given word.

DOUBTFUL
Options:
% hesitant

# Nervous

« confident

# unsureg

Question Number : 67 Question Id : 16794310367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the most appropriate antonym of the given word.

DOUBTFUL
Options:
% hesitant

# NErvous

« confident

# unsure

Question Number : 68 Question Id : 16794310368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
Select the word which is NOT an antonym of another word by way of adding a prefix.

Options:
% dissatisfaction

" dissection

« disrespect

5« disquiet

Question Number : 68 Question Id : 16794310368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the word which is NOT an antonym of another word by way of adding a prefix.

Options:
% dissatisfaction

« dissection

« disrespect

« disquiet

Question Number : 69 Question Id : 16794310369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the most appropriate phrase.

She talking whether someone is listening or not.
Options:

% Zets on

« puts on

» keeps on

% looks on

Question Number : 69 Question Id : 16794310369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Fill in the blank with the most appropriate phrase.

She talking whether someone is listening or not.
Options:
% gets on

% puts on
» keeps on

% looks on

Question Number : 70 Question Id : 16794310370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Select the option that gives the most appropriate meaning of the underlined idiom in the given context.

After his retirement. he tried his hand at farming.
Options:
» attempted

% Sstopped
% worked

% loved

Question Number : 70 Question Id : 16794310370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Select the option that gives the most appropriate meaning of the underlined idiom in the given context.

After his retirement, he tried his hand at farming.
Options:
» attempted

% Sstopped
% worked

% loved
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Question Number : 71 Question Id : 16794310371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the most appropriate option.
There is a lot of sunshine on this island. The is very good.

Options:
# season

" climate
% environment

% atmosphere

Question Number : 71 Question Id : 16794310371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the most appropriate option.
There is a lot of sunshine on this island. The is very good.

Options:
# season

" climate
% environment

% atmosphere

Question Number : 72 Question Id : 16794310372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the most appropriate option.

She told the P.A. that she had an to see the M.D. at 3:00 p.m.
Options:
% arrangement

% agreement

% engagement
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» appointment

Question Number : 72 Question Id : 16794310372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the most appropriate option.

She told the P.A. that she had an to see the ML.D. at 3:00 p.m.
Options:
« arrangement

« agreement
» engagement

» appointment

Question Number : 73 Question Id : 16794310373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Select the sentence structure that is meaningful and grammatically correct.
Options:

% A variety of costumes and textiles the museum displays produced in Ladakh.

% The museum displays produced in Ladakh a variety of costumes and textiles.
% Produced in Ladakh the museum displays a variety of costumes and textiles.

» The museum displays a variety of costumes and textiles produced in Ladakh.

Question Number : 73 Question Id : 16794310373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Select the sentence structure that is meaningful and grammatically correct.
Options:

% A variety of costumes and textiles the museum displays produced in Ladakh.

% The museum displays produced in Ladakh a variety of costumes and textiles.

% Produced in Ladakh the museum displays a variety of costumes and textiles.
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» The museum displays a variety of costumes and textiles produced in Ladakh.

Question Number : 74 Question Id : 16794310374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the sentence structure that is meaningful and grammatically correct.

Options:
» Good cookware is an integral part of cooking and can have far-reaching impact on health.

% An integral part of cooking good cookware is and can have far-reaching impact on health.
» Cooking is an integral part of good cookware and can have far-reaching impact on health.

« Cookware can have an integral impact on health and is far-reaching part of good cooking.

Question Number : 74 Question Id : 16794310374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Select the sentence structure that is meaningful and grammatically correct.

Options:

» Good cookware is an integral part of cooking and can have far-reaching impact on health.

% An integral part of cooking good cookware is and can have far-reaching impact on health.
» Cooking is an integral part of good cookware and can have far-reaching impact on health.

% Cookware can have an integral impact on health and is far-reaching part of good cooking.

Question Number : 75 Question Id : 16794310375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the sentence structure that is meaningful and grammatically correct.
Options:

The plane belonged to the Cubana Airlines which has taken many of its aging planes out of service that crashed
« yesterday.

The plane belonged to the Cubana Airlines which crashed yesterday that has taken many of its aging planes out of
# service.

The Cubana Airlines which crashed yesterday belonged to the plane that has taken many of its aging planes out of
#® service.
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The plane that crashed vesterday belonged to the Cubana Airlines, which has taken many of its aging planes out of
« service.

Question Number : 75 Question Id : 16794310375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the sentence structure that is meaningful and grammatically correct.
Options:

The plane belonged to the Cubana Airlines which has taken many of its aging planes out of service that crashed
« yesterday.

The plane belonged to the Cubana Airlines which crashed yesterday that has taken many of its aging planes out of
# service.

The Cubana Airlines which crashed vesterday belonged to the plane that has taken many of its aging planes out of
# service.

The plane that crashed yesterday belonged to the Cubana Airlines. which has taken many of its aging planes out of
 service.

Sub-Section Number: 2
Sub-Section I1d: 167943646
Question Shuffling Allowed : Yes

Question Id : 16794310376 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Read the following passage and answer the questions that follow.

Used as a route between Ladakh and Kashmir, the Zojila mountain
pass is located at a staggering 11.580 ft above sea level and

is enclosed by Kashmir valley on one side and Drass valley on the
other. The narrow road is part of the 275-mile long route from
Srinagar to Leh. It is said to be one of the most dangerous passes in
the world, not just because it is extremely narrow and has no barriers,
but also because of the vicious winds and heavy snowfall that often
affect the region.

The route is a lifeline that keeps the people of Ladakh in touch with the
rest of the world, but it is often closed during winter due to heavy
snow, which can be anywhere between 15 and 24 m deep.

The Union Cabinet on Wednesday approved the construction of
Asia's longest bi-directional Zojila Pass tunnel at an estimated cost
of * 6.089 crore. The Cabinet Committee on Economic Affairs
gave its go-ahead to the 14.2-km-long tunnel project in Jammu and
Kashmir to provide all-weather connectivity between Srinagar,
Kargil and Leh, which remains cut off from the rest of India during
winters due to heavy snowfall.

"Zojila tunnel will be the longest bi-directional tunnel in Asia. (Its)
construction period (will be) seven years because of a very difficult
terrain where in some areas’ temperature dips to minus 45° C. The
tunnel shall be an engineering marvel as a first of its kind in such a
geographical area." road transport and highways minister Nitin
Gadkari said.

Defence forces have to face hard times ensuring supplies to border
posts during winters. “This pass is most strategic for the entire
Kargil sector which has seen intrusion and war in the past.” Gadkari
said.

“The project would enhance the safety of travellers crossing Zojila
Pass and reduce the travel time from 3.5 hours to 15 mmutes.” he
added.

The main objective of the project is to provide all weather
connectivity to the strategically important Leh region in Jammu and
Kashmir, which at the moment is limited to at best six months
because of snow on the passes and threat of avalanches.

The government said that on completion, it will lead to enormous
boost in employment as local businesses get linked to national
market and the beautiful region is able to receive round the year
tourist traffic.

It will further increase the employment potential for the local labourers
for the project activities, it added.
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Sub questions

Question Number : 76 Question Id : 16794310377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
After reading the passage, one can infer that the
passage is:
Options:
% a general information article on Zojila Pass

a news item on the government’s plan to make the
» Zojila Pass Tunnel

a report on the conditions prevailing at the Zojila
# Pass

an article on the strategic importance of the Zojila
# Pass

Question Number : 77 Question Id : 16794310378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Zoijila Pass is one of the most dangerous passes in
the world. Which of the following is NOT a reason
for it?

Options:

» 1t is situated at a height of 11,580 m.

% It is extremely narrow.

% It has no barriers.

s« It is affected by vicious winds and heavy snowfall.

Question Number : 78 Question Id : 16794310379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Zojila Pass is a part of road between:

Options:
% Jammu and Leh

# Drass and Leh
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» Srinagar and Leh

« Kargil and Leh

Question Number : 79 Question Id : 16794310380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
The proposed Zojila Pass Tunnel will provide
several advantages:

A. Tt will reduce travel time from the present 3.5
hours to 15 minutes.

B. The route will remain open throughout the vyear.
C. It will be a one-way tunnel.

‘Which of the above advantages are true?

Options:

« A and B are true
% A and C are true
% B and C are true

« A. B and C all are true

Question Number : 80 Question Id : 16794310381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

The tunnel will give an economic boost to the
Ladakh region. Which of the following is NOT
related to economy?

Options:

Employment potential will be generated for
4 the local labourers for the project activity

% Local businesses will get linked to national market.

Region will be able to receive round the year

« tourist traffic.
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Supplies to border posts during winters will be
» ensured.

Question Id : 16794310376 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Cestion Label | Comprehiension
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Read the following passage and answer the questions that follow.

Used as a route between Ladakh and Kashmir, the Zojila mountain
pass is located at a staggering 11.580 ft above sea level and

is enclosed by Kashmir valley on one side and Drass valley on the
other. The narrow road is part of the 275-mile long route from
Srinagar to Leh. It is said to be one of the most dangerous passes in
the world, not just because it is extremely narrow and has no barriers,
but also because of the vicious winds and heavy snowfall that often
affect the region.

The route is a lifeline that keeps the people of Ladakh in touch with the
rest of the world, but it is often closed during winter due to heavy
snow, which can be anywhere between 15 and 24 m deep.

The Union Cabinet on Wednesday approved the construction of
Asia's longest bi-directional Zojila Pass tunnel at an estimated cost
of * 6.089 crore. The Cabinet Committee on Economic Affairs
gave its go-ahead to the 14.2-km-long tunnel project in Jammu and
Kashmir to provide all-weather connectivity between Srinagar,
Kargil and Leh, which remains cut off from the rest of India during
winters due to heavy snowfall.

"Zojila tunnel will be the longest bi-directional tunnel in Asia. (Its)
construction period (will be) seven years because of a very difficult
terrain where in some areas’ temperature dips to minus 45° C. The
tunnel shall be an engineering marvel as a first of its kind in such a
geographical area." road transport and highways minister Nitin
Gadkari said.

Defence forces have to face hard times ensuring supplies to border
posts during winters. “This pass is most strategic for the entire
Kargil sector which has seen intrusion and war in the past.” Gadkari
said.

“The project would enhance the safety of travellers crossing Zojila
Pass and reduce the travel time from 3.5 hours to 15 mmutes.” he
added.

The main objective of the project is to provide all weather
connectivity to the strategically important Leh region in Jammu and
Kashmir, which at the moment is limited to at best six months
because of snow on the passes and threat of avalanches.

The government said that on completion, it will lead to enormous
boost in employment as local businesses get linked to national
market and the beautiful region is able to receive round the year
tourist traffic.

It will further increase the employment potential for the local labourers
for the project activities, it added.
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Sub questions

Question Number : 76 Question Id : 16794310377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
After reading the passage, one can infer that the
passage is:
Options:
% a general information article on Zojila Pass

a news item on the government’s plan to make the
» Zojila Pass Tunnel

a report on the conditions prevailing at the Zojila
# Pass

an article on the strategic importance of the Zojila
# Pass

Question Number : 77 Question Id : 16794310378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Zoijila Pass is one of the most dangerous passes in
the world. Which of the following is NOT a reason
for it?

Options:

» 1t is situated at a height of 11,580 m.

% It is extremely narrow.

% It has no barriers.

s« It is affected by vicious winds and heavy snowfall.

Question Number : 78 Question Id : 16794310379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Zojila Pass is a part of road between:

Options:
% Jammu and Leh

# Drass and Leh
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Question Number : 79 Question Id : 16794310380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
The proposed Zojila Pass Tunnel will provide
several advantages:

A. Tt will reduce travel time from the present 3.5
hours to 15 minutes.

B. The route will remain open throughout the vyear.
C. It will be a one-way tunnel.

‘Which of the above advantages are true?

Options:

« A and B are true
% A and C are true
% B and C are true

« A. B and C all are true

Question Number : 80 Question Id : 16794310381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

The tunnel will give an economic boost to the
Ladakh region. Which of the following is NOT
related to economy?

Options:

Employment potential will be generated for
4 the local labourers for the project activity

% Local businesses will get linked to national market.

Region will be able to receive round the year

« tourist traffic.
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Supplies to border posts during winters will be
» ensured.
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Questions: No
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Sub questions

Question Number : 81 Question Id : 16794310383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 82 Question Id : 16794310384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 83 Question Id : 16794310385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Section Id : 167943361

Section Number : 1

Section type: Online
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Number of Questions: 20
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 167943649
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 16794310403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following agency started showing interest, in 1960s, in finding a way to connect computers so that
researchers could share their ideas?

Options:
% Association for Computing Machinery( ACM)

» Federal Communications Commission(FCC)
« Electronic Industries Assoclation{EIA)

» Advanced Research Projects Agency(ARPA)

Question Number : 101 Question Id : 16794310403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 102 Question 1d : 16794310404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is FALSE with respect to circuit-switched networks?

Options:
% A circuit-switched network is made of a set of switches connected by physical links

« Each of the physical links in the circuit-switched network within switched network is divided into n channels

» In a circuit-switched network, the resources need not be reserved during the setup phase

« Ina circuit-switched network, the resources remain dedicated for the entire duration of data transfer

Question Number : 102 Question Id : 16794310404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 103 Question Id : 16794310405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In networking, the bandwidth in hertz refers to:

Options:
» The range of frequencies in a composite signal or the range of frequencies that a channel can pass
% The speed of bit transmission in a channel or link

% The time required for a bit to travel from the source to the destination

% The time it takes for an entire message to completely arrive at the destination
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Question Number : 104 Question Id : 16794310406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following is NOT a propagation mode for propagating light along optical channels?
Options:
% Multimode

» ungraded indexed mode
% Single mode

» Step-indexed mode

Question Number : 104 Question Id : 16794310406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 105 Question 1d : 16794310407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following with respect to a network device router is true?

Options:
% A router connects segments of a LAN.

% A router is an amplifier but not a regenerator.
» A router has filtering capability.

% A router does not forward every frame.

Question Number : 105 Question 1d : 16794310407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 106 Question Id : 16794310408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following protocols is a reliable stream transport protocol?

Options:
# IGMP
« TCP
% ICMP

# ARP

Question Number : 106 Question Id : 16794310408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
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Options:

., IGMP (Internet group management protocol/geTae HHg e IERPa] HH==)

-~ TCP (Transmission control protocol/graf@ers &ere HIeihre)

. ICMP (Internet control message control/gelae faz=or Haer feg=m)

. ARP (Address resolution protocol/aar A= Fad HH==)

Question Number : 107 Question Id : 16794310409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is a multipoint networking topology?

Options:
# Mesh

# Star
% Ring

« Bus

Question Number : 107 Question Id : 16794310409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 108 Question Id : 16794310410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Which of the following is a standard for specifying any kind of information on the internet?
Options:
% Cookies

# HTML
« URL

# CGI

Question Number : 108 Question Id : 16794310410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

Fehtsl (Cookies)

%
» TTETHATS (HTML)

., T3RT (URL)

. T3S (CGI)

Question Number : 109 Question Id : 16794310411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HTML lets us use only characters.

Options:
» ASCII

% ANSI
# EBCDIC

# AMIS

Question Number : 109 Question Id : 16794310411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 110 Question Id : 16794310412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following filters the messages based on contents at the application layer?

Options:
« Gateway

% Bridge
% Packet-filter firewall

» Proxy firewall

Question Number : 110 Question Id : 16794310412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 111 Question Id : 16794310413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of following is a text-based program that the user invokes to interact with the system software?

Options:
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» A command line interpreter
% A window system
% A database management system

% Runtime libraries

Question Number : 111 Question Id ;: 16794310413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 112 Question Id : 16794310414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following processor schedulers selects a job currently loaded in the memory and allocates a processor to it?

Options:
% Context switcher

« Enqueuer

% Medium term scheduler

« Short-term scheduler

Question Number : 112 Question Id : 16794310414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 113 Question Id ;: 16794310415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is a part of the classic process that keeps track of code execution within the framework?
Options:

# Process

« Thread

w Program

« Algorithm

Question Number : 113 Question Id : 16794310415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 114 Question Id : 16794310416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following buffering techniques involves the saving of information in the memory and then writing it to the
device while the process continues execution?
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Options:
% Double buffering

% Circular buffering
» Output buffering

% Input buffering

Question Number : 114 Question Id ;: 16794310416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 115 Question Id : 16794310417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which of the following determines how the process manager can determine that it is time to multiplex the cup and how
a thread can be allocated to and removed from the CPU?

Options:
» Scheduling mechanism

% Scheduling policy
% Scheduling criteria

% Scheduling method

Question Number : 115 Question Id : 16794310417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 116 Question Id : 16794310418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the following processes with burst time.

Process burst time
0 350
1 125
2 475
3 250
4 75

What will be the average turnaround time and the average waiting time according to the Shortest Job Next (SIN)
scheduling algorithm?

Options:
% 300, 1050
% 735,430

» 560, 305

% 1044, 120

Question Number : 116 Question Id : 16794310418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« 300, 1050
« 735, 480
, 560, 305

% 1044, 120

Question Number : 117 Question Id : 16794310419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following occurs between two processes because the outcome of the computation depends on the relative
times that the two processes execute their respective critical section?

Options:
# Deadlock

+ Race condition

% Synchronisation

% Abstraction

Question Number : 117 Question Id : 16794310419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 118 Question Id : 16794310420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
Which of the following is true with respect to deadlock avoidance?
Options:

% The avoidance strategy depends on additional information about short-term resource needs.
% When a process is created in a deadlock, it must declare its minimum claim.
» With the deadlock avoidance approach. the system is always kept in a safe state.

% The bakery algorithm is used to deal with deadlock avoidance.

Question Number : 118 Question Id : 16794310420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 119 Question Id : 16794310421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the true statement(s):

(i)  Fixed partition memory strategy suffers from external fragmentation.
(i) Variable partition memory strategy suffers from internal fragmentation.

(1i1) In variable partition memory strategy. when the system is initialised, the primary memory is configured as a
single large block.
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Options:
% Only (1)

% Only (11)
» Only (iii)

.. Only (i) and (i)

Question Number : 119 Question Id : 16794310421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 120 Question Id : 16794310422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following is a set of logically associated files and other subdirectories of files?
Options:

% File

# Structure

» Directory

% Document
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Question Number : 120 Question Id : 16794310422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 121 Question Id : 16794310423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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‘Which of the following mechanisms is intended to ensure that users. processes or threads are allowed to use secure
entities in the computer only if the protection policy permits such use?

Options:
% Denial of service

% Masquerading
% Authentication

« Authorisation

Question Number : 121 Question Id : 16794310423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 122 Question 1d : 16794310424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following in a computer system bus provides a path for the transfer of data between the processor and
commeon memory?

Options:
« Data lines
% Control lines

% Address lines

% Timing signals
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Question Number : 122 Question 1d : 16794310424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 123 Question Id : 16794310425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following memory units communicates directly with the CPU?

Options:
% Auxiliary memory
% lertiary memory

» Main memory

% Secondary memory

Question Number : 123 Question Id : 16794310425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 124 Question Id : 16794310426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In which of the following cache write methods for updating main memory. only cache location is updated during write
operation?

Options:
% Write-through

« Write-back
% Write-front

% Write-up

Question Number : 124 Question 1d : 16794310426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 125 Question Id : 16794310427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A memory module with a printed circuit board on which DRAM chips are mounted on both sides is called:

Options:
» Dual Inline Memory Module (DIMM)

% Dual Outline Memory Module (DOMM)
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« Floating-Gate Metal Oxide Semi-Conductor

% Binary Inline Memory Module (BIMM)

Question Number : 125 Question Id : 16794310427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 126 Question Id : 16794310428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following modes of transfer is needed for fast devices such as magnetic disks?

Options:
« Burst transfer

% Cycle stealing
% Programmed transfer

% Daisy chaining

Question Number : 126 Question Id : 16794310428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 127 Question 1d : 16794310429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A floating point number is said to be normalised if:

Options:
% T'he most significant digit of the mantissa is zero

% The least significant digit of the mantissa is zero
% The least significant digit of the mantissa 13 non-zero

» The most significant digit of the mantissa is non-zero

Question Number : 127 Question Id : 16794310429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 128 Question Id : 16794310430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If the value of multiplicand is 10111 and multiplier is 10011, what will be the result produced by Booth’s multiplication
algorithm in decimal?

Options:
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# 171

o 117

# 170

Question Number : 128 Question Id : 16794310430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 129 Question Id : 16794310431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is NOT a common field found in instruction formats?

Options:

% The opcode field

% An address field

» A sign field

% A mode field

Question Number : 129 Question Id : 16794310431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 130 Question Id : 16794310432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is NOT a CPU organisation type with respect to instruction formats?

Options:
% Single accumulator organisation

« General register organisation
» Stack organisation

» Queue organisation

Question Number : 130 Question Id : 16794310432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 131 Question 1d : 16794310433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is NOT an instruction pipeline hazard?
Options:

% Structural hazard


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

« Address hazard
s Data hazard

% Control hazard

Question Number : 131 Question Id : 16794310433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 132 Question Id : 16794310434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following in a microprogrammed control unit is a next address generator?

Options:
w Micro program sequencer

% Pipeline register
% Micro program controller

% Control address register

Question Number : 132 Question Id : 16794310434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 133 Question Id : 16794310435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a characteristic of a RISC processor?

Options:
% Large number of instructions

» Variable length instruction formats
w Large variety of addressing modes

» Single-cycle instruction execution

Question Number : 133 Question Id : 16794310435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 134 Question 1d : 16794310436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is the act of representing essential features without including the background details or
explanations?

Options:
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« Data abstraction

% Data encapsulation
% Dynamic binding

% Inheritance

Question Number : 134 Question 1d : 16794310436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 135 Question Id : 16794310437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following features of object-oriented programming plays an important role in allowing objects having
different internal structures to share the same external interfaces?

Options:
% Message passing

% Objects

# Classes

» Polymorphism

Question Number : 135 Question Id : 16794310437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 136 Question 1d : 16794310438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is FALSE with respect to object-in-object Oriented Programming?

Options:
% Objects interact by sending messages to one another

» Objects cannot interact without having to know details of each other’s data or code

% Objects take up space in memory

% Each object is associated with the data of type class with which they are created

Question Number : 136 Question Id : 16794310438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 137 Question Id : 16794310439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Which of the following is the process of initialising an object from another object using a copy constructor in C—+7?

Options:
% Copy construction

% Copy invoking
» Copy initialisation

% Copy declaring

Question Number : 137 Question 1d : 16794310439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 138 Question Id : 16794310440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select true or FALSE from the below sentences.

(1) a private member function can only be called by another function that is a member of its class
(ii)  an object can invoke a private function using the dot operator

Options:
» (1) true (ii) false
% (1) false (ii) true

% (1) true (i1) true

« (1) false (ii) false
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Question Number : 138 Question 1d : 16794310440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 139 Question Id : 16794310441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What will be the output if the following C++ program?

#include<iostream.h>=
using namespace std;

class example

¥
L

public:
int a;
example *operator-=( )
{return this:}
b
int main( )
{
example ob:
ob-=a=10;
cout<=ipb.a=<C"" “ <=lpb-=a;
return 0;

h

Options:
« 10 10

# 1111
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# Run time error

% Garbage value

Question Number : 139 Question Id : 16794310441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ie Ara@d C++ FARY & o s Far gem?

#include<iostream.h>
class example
{
public:
int a;
example +operator( )
{return this;}
¢
int main( )
{
example ob;
ob->a=10;
cout<<ob.a<<” “ <<ob->3;
return O;

}

Options:

»10 10
x 11 11
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. e o

Question Number : 140 Question Id : 16794310442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following, associated with a friend class, can directly access private and protected data?

Options:
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% Derived class
% Base class
% Non-member functions

« Member functions

Question Number : 140 Question Id : 16794310442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Sub-Section Number: 1
Sub-Section 1d: 167943651
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 16794310443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which of the following types of inheritance, the properties of a class are inherited by more than one class?

Options:
% Multilevel

« Hierarchical
% Multipath

« Multiple

Question Number : 141 Question Id : 16794310443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 142 Question 1d : 16794310444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following file stream classes of C++ provides support for only input operations?

Options:
" ifstream

% ofstream

% fstream
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% fstreambase

Question Number : 142 Question Id : 16794310444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

 ifstream

% ofstream
% fstream

# fstreambase

Question Number : 143 Question Id : 16794310445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following C-— file mode parameters is meant for opening a file for reading only?
Options:

% los:out

% los::app
o 105::in

% 1os::ate

Question Number : 143 Question Id : 16794310445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frfof@a # & #iF @1 C++ e A (Fea AF) W v §fFT e (Faa 92 F o)
WEd F Tiod & e Faa fFar 7 272

Options:
% los:out

« l0s::app

« 10S::in
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Google Play

% los::ate

Question Number : 144 Question Id : 16794310446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

What will be the output of the following C++ program?

#include<iostream.h=
#include=conio.h=

void main( )

i
L

int num| |={56,75.22.18.90}.

int *ptr.i;
ptr=num;
ptrt+;
ptr-=1;

cout==""\nvalue at ptr:"<="*ptr;

;

Options:
#® 55

o 30

® 74

Question Number : 144 Question Id : 16794310446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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ffaf@a C++ samw &1 e (3m3eqe) =r gem?

#include<iostream.h>
#include<conio.h>

void main( )

{

int num[ ]={56,75,22,18,90};
int +ptr,i;

ptr=num;

ptr++;

ptr- =1;

cout<<"\nvalue at ptr:"<<+ptr;

}

Options:

% 55
« D6
% 74

% /5

Question Number : 145 Question Id : 16794310447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following C++ statements will declare the pointer to array, if ‘nptr’ is pointer variable and “number’ is
array variable?

Options:

» hptr=number

% hptr=number] ]
% humber=nptr

% Fnptr=number;

Question Number : 145 Question Id : 16794310447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

» hptr=number

« hptr=number]| ]
« humber=nptr

« *nptr=number;

Question Number : 146 Question 1d : 16794310448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is NOT a section of process layout when a process is loaded into the main memory?

Options:
% Stack

w Heap
» Graph

# Text

Question Number : 146 Question Id : 16794310448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
S= gierar (Srw) 7T i (@A) 7 o9 g ¢ O e 7 @ s sfrar sfiee (e
JANTIT) FT TF AT 74r gar &7

Options:

% Th
. Er
" 9T

% CFET

Question Number : 147 Question Id : 16794310449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Which of the following queues keeps a set of all processes residing in main memory ready and waiting to execute?
Options:
» Job queue

% Device queue
» Task queue

» Ready queue

Question Number : 147 Question Id : 16794310449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fefafea 7 & 7 & 9 ger i (@A) 7 37 T gfrant & ==y & wdr g =
foeurea & o g st wediea we &2

Options:

. A 9fEa (I 7)
. ITtor afFa (Bamsw #9)
, 8T 9fF T (T FY)

TR G (T F)

Question Number : 148 Question 1d : 16794310450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following schedulers is the fastest?

Options:
% Long-term scheduler

« Short-term scheduler
% Medium-term scheduler

% Job scheduler

Question Number : 148 Question 1d : 16794310450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

ﬁ &re- argfer HTHAF (=TT ASTER)
- 3 I (eMe-TH ATTR)
, FETH- A HeEe (Ao 3TN

, T FTHEF (ST TTTER)

Question Number : 149 Question Id : 16794310451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the given values can be accepted by counting semaphores?

Options:
v NDﬂ—LlegaEL\-'E Integers

% Negative integers
% Only 0&1

% Non-negative integers except 0&1

Question Number : 149 Question Id ;: 16794310451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fFfof@a § & 9 T A T0ET g T (F137EeT FATHR) ZaRT FNpa fhar T Fehell €7

Options:

 I-RUTcHS ol

% et 0 3 1

. 0 3R 1 & sfafea s-FHomcrAs qoiF
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Question Number : 150 Question 1d : 16794310452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following data structures holds the currently allocated instances of resources in Banker’s algorithm of
handling deadlocks?

Options:
# Available

# Max
% Need

+« Allocation

Question Number : 150 Question Id : 16794310452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

g # ¥ FiF O 227 T, 3315 99ua 37 3] Foaaiy § I98T ¥ Hated §at F
3ETE0T (FESTHS) T@AT g2

Options:

« Aaoiger (Available)

« #FE (Max)
« @3 (Need)

» TR (Allocation)

Question Number : 151 Question Id ;: 16794310453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following counts the number of 1's after XORing the received data with the transmitted data?
Options:

« Even parity

» Hamming distance

% Odd parity

% Cyclic redundancy code
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Question Number : 151 Question 1d : 16794310453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

aof@T 7 @ i gaig 227 & 1T 959 227 & XOR &I & 91 1 T I0TAT FIam g7

Options:

x Fae AR
o e BEew

Question Number : 152 Question Id : 16794310454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the hexadecimal representation of decimal number 16?

Options:
« 0010
# 000F

# 0017

# 0011

Question Number : 152 Question 1d : 16794310454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e (3Tame) T=r 16 & sEwaunr (FFEaiae) Fwun R=efEa 7 @ Far g

Options:

« 0010
% D0OF
% 0017

% 0011

Question Number : 153 Question Id : 16794310455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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The size of K-Map depends on the number of:
Options:
% Assumed variables

% Don’t care variables

» Input variables

% Output variables

Question Number : 153 Question 1d : 16794310455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

K-ATafas &7 3T Fr gEuT T 9T FEar g

Options:

 Tiead T (ARTEew)

« 3¢ T ITEem

Jﬁmrm(wéﬁtﬁm

. A9 = (3msege ITEen)

Question Number : 154 Question Id : 16794310456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following methods follows the same principle as of K-Mapping?

Options:

% Asymptotic analysis
% Analytic functions
% De-Morgan’s method

» Quine-McCluskey method

Question Number : 154 Question Id : 16794310456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. 39eTAT fFeewur (Asymptotic analysis)

., [Ie9wUTeAs® F (Analytic function)
.. Er-ArerT f&3fer (De-Morgan's method)

|, Faa-deaomer a2 (Quine-McCluskey method)

o

Question Number : 155 Question 1d : 16794310457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following devices is meant to target a device out of several devices connected with the same system bus of
a processor?

Options:
% Encoder

« Decoder

% Multiplexer

% Counter

Question Number : 155 Question Id : 16794310457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A=fo@a 7 o &g 3990 #7 3397 U5 TEYF (WIUEY) F A 9omer s§7 (B 59) ¥ A=
3T 3TRIUN H T Teh IUHIUT T oI8d HTeT 2idr 87

Options:

., TE WH (TeahisT)

_f@m(%ﬁaw}

, TEHHh (Ao

« JTUTATReeR (h13eX)
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Question Number : 156 Question 1d : 16794310458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is true in the case of a multiplexer?

Options:
W% 11—1'11put3, EH—OUE[J‘L]IS

% 2%-inputs, n-outputs
2 -inputs, 1-outputs

« l-inputs, 2%-outputs

Question Number : 156 Question Id : 16794310458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
F SgHFaF (AeercaFm) & Hed ¥ i § ¥ Fi9 @ Fu 57 87
Options:

., n-sage(f@ae), 2N-amsege ()

. 2"-gage(f@ae), n-3mseqe (@)
» 2"-Age(fa), | -3T3ege(fAeTH)

. 18age(fade), 2"-amseqe(As)

Question Number : 157 Question Id : 16794310459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which flip-flop can be obtained by incorporating a pair of 2 input NAND gates to accommodate the clock input to a
NAND latch?

Options:
« 5-R
# J-K

® D
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Question Number : 157 Question 1d : 16794310459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2 gA9¢ NAND 3128 & S12 &I Faller a99¢ # A91fRa %7 NAND &7 & Felles 9 1 AR
o F B FiF g Tag-vaT geg Far 31 g 27
Options:

« S-R
% J-K
% D

% 1

Question Number : 158 Question Id : 16794310460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In which of the following counters, all outputs from the counters are NOT available at the same time because of
propagation delay?

Options:
% S}’llc hronous

» Asynchronous
% Synchronous up-down

% Synchronous down

Question Number : 158 Question Id : 16794310460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frrafafa 7 & 5w suEses (#15e7) #, TUETER (FEew) § ared Wt FEE (amsege) wERT
frem & FHUT % & §HF 9T 390 F6T 2 27

Options:

SR EIEED

® 2

H-JeTFITFR

o e

JeTFITeIF Fe9-3d1

® 2
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Question Number : 159 Question Id : 16794310461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is the modified code of Excess-3 code?

Options:
w Gray

# ASCII
# EBCDIC

« BCD

Question Number : 159 Question Id : 16794310461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
oo # 9 7or 3fafEa-3 (TE-3) #15 &1 @t =5 &7

Options:

» Gray
% ASCII

» EBCDIC

« BCD

Question Number : 160 Question Id : 16794310462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is a combinational logic circuit that compares the magnitude of two n-bit numbers and provides
the relative result as output?

Options:
» Comparator
# Code converter

« Parity generator

% Multiplexer
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Question Number : 160 Question Id : 16794310462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T § ¥ F7 U Ha9d d% IR9Y (FiEaaedd diteids Hiehe) g = ar n-ffe aemmst &
af@ToT # Fe aar € 3R T (mEee) F w9 F anfEe TRemE vee a3 §7

Options:

» QoA (hFIIIE)

» E IEIF(FT Feae)

. FTeaar Sy (AR )

, TEHHAT (FeLIoelai)

Subject Related

Group Number : 9

Group Id : 167943305
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943364

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943652
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 16794310463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
How many Boolean expressions can be formed with four Boolean variables?

Options:
« 65536

®

[ ]
Lh
o

® 16

® 4

Question Number : 161 Question Id : 16794310463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IR ok T & T fohaa Jfords ca=is 9T o7 Fehd 87

Options:

« 65536

x 256
% 16

% 4

Question Number : 162 Question Id : 16794310464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is true with respect to object-oriented programming?

Options:
» It employees bottom-up programming approach

% It treats procedures as a critical element in program development
» Data moves freely around the program

% It does not model the real world problems

Question Number : 162 Question Id : 16794310464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
sifesge 3NTEE Fanfdis & det & PR & @ Fi @ Ty oo 2

Options:
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Question Number : 163 Question 1d : 16794310465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following can be the declaration of a member function if it does NOT alter any data in the class?

Options:
% Friend function

% Dynamic member function

« Const member function

% Static member function

Question Number : 163 Question Id : 16794310465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 164 Question Id : 16794310466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is FALSE with respect to constructors in C+—7?

Options:
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% Constructors may be overloaded
% Constructors are used to initialise variables and to allocate memory
% When an object is created and initialised. at the same time. a copy constructor gets called

« A constructor should not have the same name as that of a class

Question Number : 164 Question Id : 16794310466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 165 Question Id : 16794310467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which of the following C-— file modes is used to open an existing file for updating without losing its original contents?

Options:
» Append

% Write
% Read

% Extend

Question Number : 165 Question Id : 16794310467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

~ H9E (Append)
« Usc (Write)
« &5 (Read)

» TeFHcs (Extend)

Question Number : 166 Question Id : 16794310468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is known as a derived class with only one base class?

Options:
% Multiple inheritance

% Nultilevel inheritance
» Single inheritance

% Hierarchical inheritance

Question Number : 166 Question Id : 16794310468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 167 Question Id ;: 16794310469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Which of the following logic gates represents the given truth table?

A B X

0 0 |

0 | 0

| 0 0

| 1 l
Options:

« Exclusive NOR
% Exclusive OR
# NAND

# NOR

Question Number : 167 Question Id : 16794310469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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A B | X

0 0 1

0 1 0

1 0 0

1 1 1
Options:
, TFEFET NOR
, e OR
% NAND
% NOR

Question Number : 168 Question Id : 16794310470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following expressions represents the Exclusive OR gate?

Options:
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s EY)HX.y)
% (XTY) *(x'+y)
x X'y

% XTY

Question Number : 168 Question Id : 16794310470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

v (XY)+(XLy)

x (X+y) "=(X'+y)
% X*y'

]
% Xty

Question Number : 169 Question Id : 16794310471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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ab\cd |00 01 11 10

00 1 1 1

01 1

11

10 1 1 1
Options:

# AB+CD'+B'C

» C'D'+A'B'+BC

« B'D+B'C'+A'CD’
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% B+AC

Question Number : 169 Question Id : 16794310471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following expressions represents the given K-map?

ab'cd 00 01 11 10

00 1 1

01

11

10 1 1 1
Options:

# AB+CD'+B'C
# CD'TABBC
« BD'-B'C'+A'CD'

% B+AC'

Question Number : 170 Question Id : 16794310472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a combinational circuit that performs an arithmetic sum of three input bits?

Options:
% k-map

« Flip-flop
% Halt-adder

« Full-adder

Question Number : 170 Question Id : 16794310472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 171 Question Id : 16794310473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following microprogrammed control unit organisations does NOT need any decoder circuitry to generate
the control signals?

Options:
« Horizontal

% Diagonal

% Interleaved

% Vertical

Question Number : 171 Question Id : 16794310473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 172 Question 1d : 16794310474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is signed 2’s complement representation of -14 with 8 bits?

Options:
# 10001110
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# 11110001
« 11110010

# 00001110

Question Number : 172 Question Id : 16794310474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 10001110
% 11110001
+ 11110010

» 00001110

Question Number : 173 Question Id : 16794310475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘PUSH A’ indicates which of the following instruction format?

Options:
« Zero-address instruction

% One-address instruction
% Two-address instruction

% Three-address instiuiction

Question Number : 173 Question Id : 16794310475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 174 Question Id : 16794310476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following would be a preferred mode of transfer for transferring data between a magnetic disk and the
memory?

Options:
» Programmed I/O

« DMA
» Hardware interrupt driven I/O

% Software interrupt driven I'O

Question Number : 174 Question Id : 16794310476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 175 Question Id : 16794310477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is defined as the memory address obtained from the computation dictated by a given
addressing mode?

Options:
% Interleaved address
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% Random address
% Dedicated address

+ Effective address

Question Number : 175 Question Id : 16794310477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 176 Question Id : 16794310478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following methods of request-messaging in HTTP protocol sends a document from the server to the client?

Options:
# POST

« PUT
# TRACE

# CONNECT

Question Number : 176 Question Id : 16794310478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

# POST
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» PUT
« TRACE

% CONNECT

Question Number : 177 Question Id : 16794310479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following protocols is the main protocol used to access data on the world wide web?

Options:
# TCP

% IP
% DHCP

« HTTP

Question Number : 177 Question Id : 16794310479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% TCP
% IP
% DHCP

~ HTTP

Question Number : 178 Question 1d : 16794310480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is used to create static web pages?

Options:
% Ajax

® ASP
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« HTML

# JSP

Question Number : 178 Question Id ;: 16794310480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« Ajax

% ASP
« HTML

% JSP

Question Number : 179 Question Id : 16794310481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ethical hackers can also be referred to as:
Options:

« White hat hackers

% Grey hat hackers
# Red hat hackers

% Black hat hackers

Question Number : 179 Question Id : 16794310481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 180 Question Id : 16794310482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is referred to as using a computer to commit real world crimes with respect to cyberlaw?

Options:
w Computer as a target

« Computer as a person
» Computer as a weapon

» Computer as a system

Question Number : 180 Question Id : 16794310482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 181 Question Id : 16794310483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following is the full form of GSM with respect to wireless mobile communications?

Options:

» Global System for Mobile communication
% Guided System for Mobile communication
% Global System for Modern communication

% Guided System for Modern communication

Question Number : 181 Question Id : 16794310483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 182 Question 1d : 16794310484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
CDMA technology operates in which of the following frequency bands?

Options:
% 1800 kHz

% 900 kHz
« 1.9 GHz

# 19000 MHz

Question Number : 182 Question Id : 16794310484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 1800 KHZ
% 900 KHZ
« 1.9 GHZ

% 19000 MHZ

Question Number : 183 Question Id : 16794310485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following processes is NOT facilitated by DBMS with respect to databases?

Options:
» Scheduling
% Sharing

% Constructing

% Manipulating

Question Number : 183 Question Id : 16794310485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 184 Question 1d : 16794310486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

“The structure of data files is stored in the DBMS catalogue separately from the access programmes.’ This property is
referred to as:

Options:
% Program data dependence

% Program operation independence
» Program data independence

% Program operation dependence
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 185 Question 1d : 16794310487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following attributes can be called a multivalued attribute in DBMS?
Options:

u Age

» College degree

% Birth date

% Gender

Question Number : 185 Question Id : 16794310487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 186 Question Id : 16794310488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following refers to the number of participating entity types of a relationship type in DBMS?

Options:
# Instance
% Status

% Cardinality

» Degree

Question Number : 186 Question Id : 16794310488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 187 Question Id : 16794310489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If a relation x has more than one key, then each of the keys can be called as:

Options:
» Candidate key

% Primary key
% Super key

« Foreign key

Question Number : 187 Question Id : 16794310489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 188 Question 1d : 16794310490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Third normal form (3NF) is dependent on which of the following concepts?

Options:
% Non-trivial functional dependency

% Full functional dependency
» Lransitive dependency

% NMulti valued attributes

Question Number : 188 Question Id : 16794310490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 189 Question Id : 16794310491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following types of commercial DBMS is developed by IBM?

Options:
% MySQL
« DB2

% Microsoft

% Sybase
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Question Number : 189 Question 1d : 16794310491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« MySQL
« DB2
% Microsoft

« Sybase

Question Number : 190 Question Id : 16794310492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is one of the front-end technologies that are most frequently used with MySQL?

Options:
« HTML 5
# Adobe AIR

« JavasScript

% Action script

Question Number : 190 Question Id : 16794310492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 191 Question 1d : 16794310493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following components exists between client and database server in oracle three-tier architecture?
Options:

% Oracle web cache

% Master server
% Internet file schema

» Application server

Question Number : 191 Question Id : 16794310493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 192 Question 1d : 16794310494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following clause in SQL ROLLBACK statement rolls back only the specified transaction?
Options:

# SAVEPOINT
« FORCE

# WORK

# COMMIT

Question Number : 192 Question Id : 16794310494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Correct : 1 Wrong: 0.25
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Options:

% SAVEPOINT
« FORCE
% WORK

# COMMIT

Question Number : 193 Question Id : 16794310495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following with respect to SQL TRUNCATE statement is true?

Options:
» We may not be able to roll back in case of TRUNCATE in some databases

% We may roll back truncated data any time
« After deleting rows, TRUNCATE does not free the space containing table

% We can use “where’ clause with TRUNCATE statement

Question Number : 193 Question Id : 16794310495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 194 Question Id ;: 16794310496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

Consider the relations Order(Id.OrderDate,OrderNumber, CustomerId, TotalAmount) and
Customer(Id.FirstName,LastName,City, Country.Phone). What will be the output of the following SQL statement:
Select FirstName, LastName.OrderCount= (Select count(Q.Id) from Order O where O.CustomerId = C.Id)

from Customer C

Options:
% List all customers with all their orders

% List all customers
% List all the orders

« List all customers with their total number of orders

Question Number : 194 Question 1d : 16794310496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ferre T a= &

Order(ld,OrderDate, OrderNumber,Customerld, TotalAmount) and
Customer(ld,FirstiName,LastName,City,Country,Phone).

frrafafea SaL wue & e (3m3ege) =7 g

Select FirstName, LastName,OrderCount= (Select count(O.ld) from Order O where O.Customerld
=C.Id) from Customer C

Options:
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Question Number : 195 Question Id : 16794310497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following SQL functions is used to evaluate a list of expressions and returns the corresponding result if a
value is matched?

Options:

# TRIM
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« DECODE
# NVL

# INSTR

Question Number : 195 Question Id : 16794310497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

# TRIM

+ DECODE
% NVL

% INSTR

Question Number : 196 Question Id : 16794310498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following with respect to views in SQL is FALSE?
Options:

# A view can be derived from the base table or other views.

% A view is considered as a virtual table.

» A view exists in the physical form.

w A view is a single table.

Question Number : 196 Question Id : 16794310498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SQL & =g (views) ¥ TesT # feafaf@a & ¥ 9 &1 Fu 30T 7
Options:
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Question Number : 197 Question Id : 16794310499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following describes a group of links with common structure and common semantics in object oriented
modeling?

Options:
« Association

% Generalisation
% Multiplicity

% Inheritance

Question Number : 197 Question Id : 16794310499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 198 Question Id : 16794310500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In client-server computing, which of the following is NOT handled by a client?

Options:
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% Presentation logic
% Processing logic
% Storage logic

« Access to shared resources

Question Number : 198 Question Id : 16794310500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 199 Question Id : 16794310501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following SQL joint statements returns all the records from the left table and the matched records from the
right table?

Options:
% Inner join
» Left join

. Right join

% Full join

Question Number : 199 Question Id : 16794310501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

feafaf@a § @ #l7 @ SOL #g#a (Aise) Fua a1 @iolr § wsf sffems (=ea) 3k a8
Tyt & Fems & orr sffems () 95 1A 272

Options:

o WwE Fied

. ol e

Question Number : 200 Question Id : 16794310502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Consider the tables PROJECT(Pname,Pnumber.Plocation) and WORKS ON(ESSN,Pno.Hours). The query to retrieve
the project number, project name and number of employees who work on that project is:

Options:
% Select Pnumber,Pname, from PROJECT, WORK ON where Pnumber=Pno GROUPT BY Pnumber, Pname:

% Select Pnumber.Pname, COUNT(*) from PROJECT, WORK ON where Pnumber=Pno;

% Select Pnumber,Pname, COUNT(*) from PROJECT, WORK ON GROUPT BY Pnumber, Pname;

» Select Pnumber,Pname, COUNT(*) from PROJECT, WORK. ON where Pnumber=Pno GROUPT BY Pnumber, Pname;

Question Number : 200 Question Id : 16794310502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TIforat (dsed) PROJECT(Pname,Pnumber,Plocation) 3T WORKS_ON(ESSN,Pno.Hours) 9T &=
F{| TNISAT HEAT (F=ae AaY), TEAAT F ATH (Weiee #7) FT 37 IEsar W #18 & ad
FHANET T T FTod H HT [Haer Fgead (F) F41 gem 2
Options:

Select Pnumber,Pname, from PROJECT, WORK_ON where Pnumber=Pnc GROUPT BY Pnumber,
% Pname;

« Select Pnumber,Pname,COUNT(#) from PROJECT, WORK_ON where Pnumber=Pno;

« Select Pnumber,Pname,COUNT(#) from PROJECT, WORK_ON GROUPT BY Pnumber, Pname;

Select Phumber,Pname,COUNT(*) from PROJECT, WORK_ON where Pnumber=Pno GROUFT BY
» Pnumber, Pname;
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Subject Related

Group Number : 11

Group Id : 167943307
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943366

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 167943654
Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 16794310503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

When was HTML 5 released?
Options:

® 1992

# 1996
# 20006

« 2014

Question Number : 201 Question Id : 16794310503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HTML 5 s ST ToRam arar ar?

Options:
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% 1992 &
% 1996 &
% 2006 H

v 2014 &

Question Number : 202 Question Id : 16794310504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From which of the following language is HTML derived?

Options:
« SGML

# XML
# XHTML

% Java Script

Question Number : 202 Question Id : 16794310504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

forafofea & & fhw e & @ HTML & geafea g3 37

Options:

« SGML
% XML
% XHTML

« Java Script

Question Number : 203 Question Id : 16794310505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following attributes of HTML element declares a namespace for tags used in HTMIL document?

Options:
% Xxl:lang
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% Style
« xmlns

% title

Question Number : 203 Question Id : 16794310505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HTML &e= & am=faf@a & & #ia @1 o7 (eftege) HTML sorm & 939 3ifeas (&) & o
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Options:

« Xl:lang

« style
« Xmins

% title

Question Number : 204 Question Id ;: 16794310506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following metadata elements of HTMI_ is used to specify a default URL and target for all the links in an
HTML document?

Options:
# TITLE

« BASE
# LINK

# COMMAND

Question Number : 204 Question Id : 16794310506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HTML & TFafofeaa # & 58 #eRa acd &1 9399 Bhee URL & 3oa@ #d HIT HTML Jorg
# msfr few & oy & fOr &Far Far 872
Options:

% TITLE
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+ BASE
% LINK

» COMMAND

Question Number : 205 Question Id : 16794310507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following refers to a set of characters used to identify or name a resource on the internet?

Options:
« URI

# UML
# REC

# HTTP

Question Number : 205 Question Id : 16794310507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TaefEa & & 7 Seae W Fdr Faud & Tg=Es 1 AHG0T F & o g3 B A
HIAR! (i) & HH=AT I HEHT P 87

Options:

« URI
% UML
x RFC

% HTTP

Question Number : 206 Question Id : 16794310508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fAratatag # & fFw acg &1 waer @il (G5e) & 9Fan = ofenfe == F e & s 22

Options:

% 13

% TH
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% 1D

« TR

Question Number : 206 Question Id : 16794310508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following elements is used to define rows of a table?

Options:
# TS

# TH
% TD

« TR

Question Number : 207 Question Id : 16794310509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following HTML code snippets is used to specify the path of a GIF image is stored at?
Options:

% <IMG="example.gif"/>

» ~IMG src="example.gif"’/>
% <src ="example.gif”/=

» <href src="example.gif"/>

Question Number : 207 Question Id : 16794310509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Feafef@a § & &8 HTML #iF STy &7 99T 38 99 F 3fediad #id & foT &ar Sar § S8
GIF of #afea €72

Options:

« <IMG="example.gif’/>

» <IMG src="example.gif'/>

« <src ="example.gif’/>
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« <href src="example.qgif’/>

Question Number : 208 Question Id : 16794310510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The HTML code “<ABBR title="Internet Explorer">IE</ABBR> abbreviation of Internet Explorer” is used to:
Options:

% Display the subscripted data

» Display abbreviated texts
% Display the superscripted data

% Display smaller size text

Question Number : 208 Question 1d : 16794310510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HTML =g “<ABBR title="Internet Explorer">|IE</ABBR> abbreviation of Internet Explorer’ T FTeT

¥ o fmar amar B

Options:

. INTET e (wefirees @) & v

, TIRFAE Se1 (Gfwees tan) & oo

, T IR F ST & FeI

Question Number : 209 Question Id : 16794310511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which of the following forms the EM element of emphasising text in HTML displays the emphasised text?

Options:
# Bold

% Small

« Italic
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% Subscripted

Question Number : 209 Question Id : 16794310511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frafafaa & & 5w %9 #, HTML & =T @ 2T S aTe 918a-19T & EM &5 Joarqor

Options:

. A (@)

« FNIET (FafErds)

Question Number : 210 Question Id : 16794310512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is NOT a type of INPUT element of form in HTML?

Options:
% Checkbox

% Radio
% Submit

« Source

Question Number : 210 Question Id ;: 16794310512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HTML &, for=faf@T & @ =01 97 & INPUT I &7 T 95X =af 87
Options:

wﬁﬁuﬁﬂ

» Yf=or

% HleAcT
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Question Number : 211 Question Id : 16794310513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Which of the following conditions represents an empty condition in the circular queue?
Options:
+« Front = rear

# Rear=n-1
% (Rear +— 1)mod n = front

% (front + 1)mod n = rear

Question Number : 211 Question Id : 16794310513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fr=fef@a & ¥ #i9 @ 39w goa=r 9F T 7 Reg sawr # weitia &= 87
Options:

« Front = rear

% Rear = n-1

« (Rear + 1)mod n = front

« (front + 1)mod n = rear

Question Number : 212 Question 1d : 16794310514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following can be defined as the number of sub-trees of a node?
Options:

# Forest

% Terminal nodes

» Degree

% Level
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Question Number : 212 Question Id : 16794310514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

F=la 7 0 0 o= A & ge-d & gEw F 7 7 9y G o1 g 22
Options:

% BES

» T3

% o9

Question Number : 213 Question Id : 16794310515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is FALSE with respect to tree data structure?

Options:
» Degree of a tree is the minimum degree of the nodes in a tree
» Height of a tree is the maximum level of any node in the tree

% A forest is a set of disjoint trees

% Ancestors of a node are all the nodes along the path from the root to that node

Question Number : 213 Question Id : 16794310515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 214 Question Id : 16794310516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A binary search tree where the subtrees of every node differ in height by at most 1 is called:

Options:
% Binary tree

% Binary search tree
« AVL tree

# B+ tree

Question Number : 214 Question Id ;: 16794310516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

w TS g
TS T/

» TaLT (AVL) &

x B+ET

Question Number : 215 Question Id : 16794310517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The maximum height of a red-black tree with n internal nodes is:

Options:
% log(n+1)

v 2log(n+1)
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Question Number : 215 Question 1d : 16794310517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

n e AT I TF E-soish & Fr Hfdsan F9s a1 2dr 22

Options:

« log(n+1)

» 2log(n+1)
« 2logn

« 2+logn

Question Number : 216 Question Id : 16794310518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The worst case time complexity of a heap sort is:
Options:

% O(n)

% Oflogn)

% 0(n?)

» O(nlogn)

Question Number : 216 Question Id : 16794310518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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o

« Oflogn)

% O(n?)

»~ Q(nlogn)
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Question Number : 217 Question 1d : 16794310519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following sorting techniques used external sorting?

Options:
% Insertion sort

% Selection sort

» Merge sort

% Bubble soit

Question Number : 217 Question Id : 16794310519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TrafaflT & ¥ F7 O gifee Soiss UaEaaTal TifeeT T JIeT FIaT 27

Options:

« FHUA Fie
» TorFrT T
v TS W€

« g We

Question Number : 218 Question Id : 16794310520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a sorting algorithm, if two objects with equal keys appear in the same order in sorted output as they appear in input
array to be sorted, then it is said be:

Options:
« Stable
% Standard

% Stubborn

w Strong

Question Number : 218 Question Id ;: 16794310520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
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Options:

v T

Question Number : 219 Question Id : 16794310521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is true with respect to the Fibonacci searching algorithm?

Options:
» Fibonacci searching works for sorted arrays

» Fibonacci searching uses divide-and-conquer algorithm
% Fibonacci searching divides given array in equal parts
% The time complexity of Fibonacci searching is O(logn)

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 219 Question Id : 16794310521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note: For thisquestion, discrepancy isfound in question/answer . So,this question isignored for all candidates.

Question Number : 220 Question 1d : 16794310522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In Document Object Model (DOM). all the properties, methods and events that are available to a web developer for
manipulating and creating web pages are organised into:

Options:
» Objects

# Tables
# Classes

% Modules

Question Number : 220 Question Id : 16794310522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SiFgHe festae Aiser (DOM) &, wafr 707, Rffat 3k gea, s 37 oot &1 FeearEs yaer 3k
mmﬁﬁvwﬁm#ﬁmwﬁ a?rq:'mﬁ?r?rc‘fr%l

Options:

o Hesiged

o AIsgEH
Subject Related
Group Number : 12
Group Id: 167943308
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20

Subject Related
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Section Id : 167943367

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 167943655
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 16794310523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is NOT a part of the document object model (DOM) with respect to the type of object?

Options:
# Core

% XML
« Class

# HTML

Question Number : 221 Question Id : 16794310523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hesiae & THR & HeH H, raAtaiad § & &7 SiFgHe Aeage Asel (DOM) & T & Al 872
Options:

% Core

» XML

« Class

» HTML

Question Number : 222 Question Id : 16794310524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following Cascading Style Sheet selectors matches all the elements specified in a list with the given value
to determine the elements to which the CSS rules are to be applied?

Options:
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% Universal
# Class
% ID

» Lype

Question Number : 222 Question Id : 16794310524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT & ¥ FiF @1 FEfEe e 99 Tuasar (FefEer o ofic Foee) a8 Fuiilg =3 &
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Options:

Question Number : 223 Question Id : 16794310525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is NOT a way to apply CSS to the HTML document?

Options:
% The internal stvle

» The out-line style
% EXternal style

% In-line style

Question Number : 223 Question Id : 16794310525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e # & #i7 HTML g¥aast 9T CSS @] & & JehT el 87

Options:
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Question Number : 224 Question Id : 16794310526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is NOT an attribute of HTML LINK element used to link CSS with web pages?

Options:
% rel

x Lype
o ref

% href

Question Number : 224 Question Id : 16794310526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e & & #i7 39 9= & CSS & w1 & forw w@er fhe = arer HTML LINK &5 &1 tfegege =8t 2
Options:
% rel

% type
 ref

% href

Question Number : 225 Question Id : 16794310527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is NOT a value accepted by background colour property of Cascading Style Sheet?
Options:

% Colour name
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« Hexadecimal equivalent of colour
» Binary equivalent of colour

% RGB colour

Question Number : 225 Question Id : 16794310527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e # @ Fia e Ao I9h & A T (FeR) 0T EFRT TGd AT ALl 87
Options:
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Question Number : 226 Question Id : 16794310528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following properties relating to a font is used display a font as normal or in small-caps in

Cascading Style Sheets?

Options:
« Font-variant

« Font-style
% Font-weight

% Font-stretch

Question Number : 226 Question Id : 16794310528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 227 Question Id : 16794310529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a text decoration property in Cascading Style Sheets?

Options:
% lowercase

% centre
% ink

« overline

Question Number : 227 Question Id : 16794310529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 228 Question Id : 16794310530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following Cascading Style Sheet text properties defines the minimum and maximum space between
words?

Options:
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» word-spacing
% White-space
% word-break

% Wword-wrap

Question Number : 228 Question Id ;: 16794310530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 229 Question Id : 16794310531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following area of a box displays the content of a document in cascading stvle sheets?

Options:
% Padding

% Border
» Margin

« Content

Question Number : 229 Question Id : 16794310531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 230 Question Id : 16794310532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following margin properties of Cascading Style Sheet allows specifying all margin properties in one
declaration?

Options:

« Margin-right

« Margin-left
» Shorthand margin

% Margin-bottom

Question Number : 230 Question Id : 16794310532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 231 Question Id : 16794310533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a valid XML declaration?
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Options:
» =2xml version="1.0" standalone="yes"?>

% <xml version="1.0" standalone="yes >
% <*xml version="1.0" standalone="yes"*>

% <7xml version="1.0" standalone="yes=

Question Number : 231 Question Id : 16794310533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
» <7xml version="1.0" standalone="yes"?>

« <xml version="1.0" standalone="yes">
« <=xml version="1.0" standalone="yes"+>

« <?xml version="1.0" standalone="yes">

Question Number : 232 Question Id : 16794310534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Consider the following XML statement:
<Markup=xml statement</markup=
This statement is invalid due to:

Options:

% Unclosed tag

% Improper element nesting
» Capitalisation mismatch

« Improper quoting of attributes

Question Number : 232 Question Id : 16794310534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 233 Question Id : 16794310535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following rules is FALSE with respect to XML structure?

Options:
« All XML elements must have proper nesting

» XML tags are case insensitive
% Attribute values must be quoted

» All XML elements must have a closing tag

Question Number : 233 Question 1d : 16794310535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 234 Question Id : 16794310536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The trailing */>" in the syntax indicates to a program processing XML statement that the element is:
Options:

% Unrestricted

% Matching

% Unwanted

» Empty

Question Number : 234 Question 1d : 16794310536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 235 Question Id : 16794310537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following notations can be used to encode string <element> in XML document?
Options:

» &ltelement&gt

« &gtielement&lt
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% <lt:element=gt

% <gt:element=It

Question Number : 235 Question Id : 16794310537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

v &lt;element&gt

« &gtelement&lt
« <lt;element>gt

« <gtelement>It

Question Number : 236 Question Id : 16794310538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The XML statement <!ELEMENT note(message )= declares

Options:
» The child element *message™ must occur only once inside the “note™ element

% The child element “message™ must occur one or more times inside the “note™ element
% The *note” element can contain zero or more occurrences of parsed character data

% The “note” element can contain only one occurrence of parsed character data

Question Number : 236 Question Id : 16794310538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

» TT8e8 OcF “message” HaA TH & GR ‘note” Tcd F 3 g ARV

, TEes dod “message” Us AT s aR “note” dcd & HeT 3T giAT =1gT|


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

. “Note” Teq # 9 TUTEATAT (I1ES) FXFeT 3T & YT I7 3T 3ITEUTT 8 Fehell g

« “Note” e H 9T TTEAITAT (ITES) FigFeT 3T Fr Faa U Ireufy 27 TFar 2l

Question Number : 237 Question 1d : 16794310539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following is NOT a development model supported by ASP?
Options:
« ASPNET APT

# ASPNET core
% Classic ASP

# ASPNET MVC

Question Number : 237 Question Id : 16794310539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

«+ ASP.NET APT
% ASP.NET core
% Classic ASP

# ASP.NET MVC

Question Number : 238 Question Id : 16794310540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which ASP development model is successor to classic ASP?

Options:

% ASP.Web forms
# ASPNET core

« ASP.NET
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# ASPNET MVC

Question Number : 238 Question I1d : 16794310540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FiT TT ASP Tow 9faa= Fanfas ASP & 3caiddr &7
Options:

% ASP.Web forms

% ASP.NET core
« ASP.NET

# ASP.NET MVC

Question Number : 239 Question Id : 16794310541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is true with respect to ASP?

Options:
% Most of the functionality that can be built into ASP pages comes from objects on the client

» ASP technology is language-independent
% ASP enables client side scripting for IIS

» Files created with ASP have the extension .aspn

Question Number : 239 Question Id : 16794310541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 240 Question 1d : 16794310542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is the default scripting language of ASP?

Options:
% JavaScript

% XML
# C#

» VBScript

Question Number : 240 Question Id : 16794310542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

g # @ ASP &1 Bwiee B o #4r 82

Options:
« JavaScript

% XML
% CH

» VBScript
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Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943656
Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 16794310543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following keywords is used to explicitly declare variables in ASP?

Options:
w DIM

# Const
% Explicit

# DIS

Question Number : 241 Question Id : 16794310543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« DIM
% Const
« Explicit

% DIS

Question Number : 242 Question Id : 16794310544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is NOT a built-in constant in ASP?

Options:
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% Empty
« Nothing
# NULL

« FULL

Question Number : 242 Question Id : 16794310544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

» Empty

» Nothing

% NULL

« FULL

Question Number : 243 Question Id : 16794310545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following data-types is supported by VBScript, which is often used to create ASP that can store different
types of data?

Options:
« Variant

% Object
w Integer

% Boolean

Question Number : 243 Question Id : 16794310545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Question Number : 244 Question 1d : 16794310546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a valid assignment in ASP?

Options:
% “sttName”="John Smith™

« sttName="John Smith"”
# 70=137

# #1/5/1985%=#9/15/1985#%

Question Number : 244 Question Id : 16794310546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% “strName”™="John Smith”

o strName="John Smith"

» 70=137

% #1/5/1985#=#9/15/1985#

Question Number : 245 Question Id ;: 16794310547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following ASP VB functions converts an expression to a variant of subtype single?

Options:
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v CSng
% CLng
% Clnt

% CDbl

Question Number : 245 Question Id : 16794310547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

~ CSng

« Clng
% Clnt

% CDbl

Question Number : 246 Question Id : 16794310548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following functions of ASP is used to get the number of seconds since 12:00 AM?

Options:
% TimeValue

% TimeSerial
% Time

« Timer

Question Number : 246 Question 1d : 16794310548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 247 Question Id : 16794310549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is FALSE with respect to VBScript sub procedures in ASP?

Options:
% Sub procedure is a series of statements

% Sub procedure is enclosed by Sub and End Sub statements
» Sub procedure will perform actions and return a value

% Sub procedure can take arguments

Question Number : 247 Question 1d : 16794310549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. Sub T (FRISR) FUAT (FeHeH) T Th 5TeT ¢l

« Sub BRanfafer (FRAR) Sub 3R End Sub Fy=T (ReFed) carm THET BT 2l
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Question Number : 248 Question Id : 16794310550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a method of ASP application object?

Options:
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% Timeout
« Lock
% Write

% Form

Question Number : 248 Question Id : 16794310550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« TEAATE

o &
» TI5<

« B

Question Number : 249 Question 1d : 16794310551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following ASP component creates an object that displays a different image each time a user enters or
refreshes a page?

Options:

w Page Counter

% Content Rotator

« AdRotator

% Counter

Question Number : 249 Question 1d : 16794310551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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» 9T F13eT (Page Counter)
4 Fee UeeX (Content Rotator)

» USeeY (AdRotator)

» 13T (Counter)

Question Number : 250 Question Id : 16794310552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following ASP objects is used to send information to the user?

Options:
« Request

% Application
% Session

» Response

Question Number : 250 Question Id : 16794310552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

» ReaEe
% Ucoliehals
% HAT
v |

Question Number : 251 Question Id : 16794310553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the expansion of ADO with respect to ASP?

Options:
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% ActiveX Dynamic Objects
% Alternative Dyvnamic Objects
» ActiveX Data Objects

% Alternative Data Objects

Question Number : 251 Question Id : 16794310553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 252 Question Id : 16794310554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The ADO connection object is used to:

Options:
% Hold a set of records from a database table

» Create an open connection to a data source
» Display data from a recordset

% Display only selected set of records and fields to view

Question Number : 252 Question Id : 16794310554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 253 Question Id : 16794310555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following ASP server variables returns a string that describes the browser that sent the request?

Options:
« HITP_USER_AGENT

» SERVER NAME
» REMOTE_HOST

» REMOTE_ADDR

Question Number : 253 Question Id : 16794310555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

» HTTP_USER_AGENT
« SERVER_NAME
« REMOTE_HOST

x« REMOTE_ADDR

Question Number : 254 Question Id : 16794310556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
JavaScript is used to:

Options:
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« Perform processing on the server side
» Define the content of web pages
% Specify the layout of web pages

» Program the behaviour of web pages

Question Number : 254 Question Id : 16794310556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 255 Question Id : 16794310557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following are actions that can be performed on objects in JavaScript?

Options:
« Properties

« Methods
% Function definitions

» Objects

Question Number : 255 Question Id : 16794310557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 256 Question Id : 16794310558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The ‘instanceof” JS operator returns

Options:
# Size of a variable
% Lype of a variable

» Irue if an object is an instance of an object type

% Irue if an object is a method of an object type

Question Number : 256 Question Id : 16794310558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 257 Question Id : 16794310559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What will be the result of the following JavaScript:
var x="Volvo"+16+4
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Options:
« Volvol64

% volvo20
% 20volvo

% l64volvo

Question Number : 257 Question Id : 16794310559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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var x="Volvo™+16+4

Options:

+ Volvo164
% volvo20
% 20volvo

% 164volvo

Question Number : 258 Question Id : 16794310560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following JS browser objects represents browser’s window?

Options:
# Form

% Document

» Window object

% Location object

Question Number : 258 Question Id : 16794310560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 259 Question Id : 16794310561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is FALSE with respect to rules of naming variables in Visual Basic?

Options:
» variable names may include letters, numbers and underscore

« More than 40 characters can be used in a variable name
% The first character of a variable name must be a letter

% Reserved words cannot be used as a name of a variable

Question Number : 259 Question Id : 16794310561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 260 Question Id : 16794310562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which if the following suffixes is used to indicate currency data type in Visual Basic?

Options:
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Question Number : 260 Question Id : 16794310562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Sub-Section Number: 1
Sub-Section 1d: 167943657
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 16794310563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following is NOT the scope of an explicit type of variable in Visual Basic?
Options:
» Procedure level, dynamic

% Procedure level
% Form and module level

% Global level

Question Number : 261 Question Id : 16794310563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 262 Question Id : 16794310564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which of the following options of the dialog box with respect to menu editor in Visual Basic allows assigning a numeric
value that determines the control’s position within a control array?

Options:
% Name

« Index

% windowsList
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% shortcut

Question Number : 262 Question Id : 16794310564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 263 Question Id : 16794310565 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In which of the following procedures the code to be executed when user chooses the menu item is placed in Visual

Basic?
Options:
w Drag event

« Drop event
# Move event

« Click event

Question Number : 263 Question Id : 16794310565 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tlofea 7 ¥ 0 o (IEeR) #, 99 JaTedr #d 35eH & 997 HIdT g, df HEfead g
¥ B P R 3o F Tl 2 ¥

Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

% 7T ¥

, B =i

Question Number : 264 Question Id : 16794310566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which property of the ToolStrip object is used to set the position of the toolbar in Visual Basic?

Options:
« Dock

% DockPadding

% DefaultSize

% DesignMode

Question Number : 264 Question Id : 16794310566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 265 Question 1d : 16794310567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is an extension of a Visual Basic project file?

Options:
% .fix

% .bas
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~ -vbp

# .0CX

Question Number : 265 Question 1d : 16794310567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
% frx

% .bas

» -vbp

# .0CX

Question Number : 266 Question Id : 16794310568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is NOT a quality of a good multimedia monitor?

Options:
% Size

% Refresh rate
% Dot pitch

» Sound pitch

Question Number : 266 Question Id : 16794310568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 267 Question Id : 16794310569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Which of the following algorithms is used by GIF images with respect to multimedia?
Options:
» Lempel-Ziv-Welch

% Run length encoding compression

% Chain codes

% Area lmage compression

Question Number : 267 Question Id : 16794310569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 268 Question Id : 16794310570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is NOT a type of multimedia authoring tool?

Options:

% Card based
% Time based

« Sound based
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% Icon based

Question Number : 268 Question Id : 16794310570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Tafef@a & ¥ 71 Aoz Aufer o & v g 7L 82

Options:

wﬂém
« THT HTIE
v &3t 3maiE

w e amenfig

Question Number : 269 Question Id : 16794310571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is a time-based multimedia authoring tool?
Options:

» Hypercard

« Flash
% Revolution

% Micromedia Authorware

Question Number : 269 Question Id : 16794310571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 270 Question Id : 16794310572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following standards supports coding of natural and synthetic media objects for multimedia applications?

Options:
# MPEG-1

# MPEG-2
« MPEG-4

# MPEG-7

Question Number : 270 Question Id : 16794310572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« MPEG-1
« MPEG-2
+~ MPEG-4

» MPEG-7

Question Number : 271 Question 1d : 16794310573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following sound effects indicates ambience settings and need NOT be synchronised with the picture with
respect to multimedia?

Options:
% Foley

» Foreground

% Design
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» Background

Question Number : 271 Question 1d : 16794310573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 272 Question Id : 16794310574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following icons turns off and on the visibility of the layer, allowing us to see what is behind or under the
layer in Photoshop image editing software?

Options:
 EYe

» Laver palette
% Opacity

% Delete

Question Number : 272 Question Id : 16794310574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 273 Question Id : 16794310575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the smallest size allowable for dimensions in movie properties in multimedia flash?

Options:
» 18 % 18 pixels

% 350 x 400 pixels
5 2880 x 2880pixels

% 12 % 12pixels

Question Number : 273 Question Id : 16794310575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 274 Question 1d : 16794310576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is the technique of gradually working from a high-level to detailed algorithm?

Options:
% Reviewing the algorithm

% Describing the algorithm


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

» Analysis of the algorithm

» Stepwise refinement

Question Number : 274 Question Id : 16794310576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% ShOTATITS =T HHIET FTaAT

% ToATATE & FUTA FHIAT
% FoTATITe T FENT FAT

v TOTEE 9IsHI0T

Question Number : 275 Question 1d : 16794310577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is FALSE with respect to use of recursion for problems with inductive characterisation?

Options:
» Every recursive method must have a base case

% Every recursive method makes progress towards its base case
« Recursive method has more to do following a recursive call

» Use formal reasoning to determine the time of a recursive call

Question Number : 275 Question Id : 16794310577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 276 Question Id : 16794310578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The type of interaction between a user and a computer involving commands and responses with one person at a time is
called:

Options:
+« Command line interface

» Graphical user interface

% Menu driven interface

% Form based interface

Question Number : 276 Question Id : 16794310578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 277 Question Id : 16794310579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

To control the width of a cell, spanning two or more columns. which attribute is added to <th>, <td> tags?
Options:

5 Align
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» Colspan
% Width

% Rowspan

Question Number : 277 Question 1d : 16794310579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 278 Question Id : 16794310580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following usages is true with respect to frames in HTML?

Options:
 <FREAMESET COLS="80,%">

% <FREAMESET COLS="80,7">
# <FREAMESET COLS="80,7">

# <FREAMESET COLS="80,5">

Question Number : 278 Question Id : 16794310580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

html & FFg & Ty #, A=or@a & ¥ FiF I 939 T 872
Options:

» SFREAMESET COLS="80,+">
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« <FREAMESET COLS="80,+">
« <FREAMESET COLS="80,7">

« <FREAMESET COLS="80,%">

Question Number : 279 Question Id : 16794310581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following should be placed inside PHP script to store information in the database through HTML form?

Options:
% Webpage

% HTML document

» SQL commands

# Browser

Question Number : 279 Question Id : 16794310581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 280 Question Id : 16794310582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following HTML tags inside <select> element defines the available options in a list?
Options:

% <choice>
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»~ —option=
% <list>

% <elements>

Question Number : 280 Question Id : 16794310582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% <choice>

~ <option>

# <list>

% <elements>

Subject Related

Group Number : 15

Group Id: 167943311
Group Maximum Duration : 0

Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943370

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section 1d: 167943658
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Question Shuffling Allowed : Yes

Question Number : 281 Question 1d : 16794310583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the most appropriate answer from the options given.

The concept of “quality” is:
Options:
% Universally constant

% As per the gender
» As perceived by an individual

% As per norms of the society

Question Number : 281 Question 1d : 16794310583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

& =1v Rl 7 ¥ W 39gad 3ca) T4

"I[UTECAT" Y HIUROT &
Options:

% FTasiEE B

, ToRT & 3ERr

[
w ~n edlad gkl Alal Slal

, HATS & HATASET & TR

Question Number : 282 Question Id : 16794310584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the options below.

In India, the exponential change in technology and lifestyle has lead to:

Options:
# Westernisation
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» Cultural lag

% Modernisation

% Time lag

Question Number : 282 Question Id : 16794310584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 283 Question Id : 16794310585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the best option from the given list.

Which of the following computer-based instructional material can be used to learn new concepts?

Options:
« Review questions

% Simulations
« Tutorial

% Online assessments

Question Number : 283 Question 1d : 16794310585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 284 Question Id : 16794310586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct option to complete the sentence.

“Dialogic teaching and learning™ that harnesses cognition in students emphasises:

Options:
% Clear explanation by the teacher

+ Interaction between students and the teacher
% Using lot of audio-visual aids

% Involving parents in the teaching process

Question Number : 284 Question 1d : 16794310586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 285 Question Id : 16794310587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Choose the right option from the list below.

Syntax, an important aspect in writing, means:

Options:

% Spellings of words
« Word order and sentence structure
% Grouping of similar words

% Grouping of similar ideas

Question Number : 285 Question Id : 16794310587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 286 Question Id : 16794310588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Choose the right option.

A scientific study of language is called:
Options:
% Lingual study

» Linguistics

% Phonetics

% Grammar

Question Number : 286 Question 1d : 16794310588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 287 Question 1d : 16794310589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the most appropriate option.

Technology that has affected the sex ratio is:
Options:
» Amniocentesis and ultrasonography

% Mobile phones and TVs

% Films and internet
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% Social media and chats

Question Number : 287 Question Id : 16794310589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
[t A
FaTfees  39gea AeeT T4
3 3

{CE T AT e FTell Tehelloh &

Options:

o UEAOEER AT Hegraaanh
. AT BT 3T &

., Grerer #:ifzar it Few

Question Number : 288 Question Id : 16794310590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the appropriate option to complete the sentence.

A mathematics teacher needs to highlight the value of mathematics to make the learning of mathematics more
meaningful.

Options:
% social

% ntellectual
« utilitarian

% aesthetic

Question Number : 288 Question Id : 16794310590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 289 Question Id : 16794310591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the best option to complete the sentence.

The latest trend in language teaching is that:
Options:

% Special emphasis is given to grammar teaching
% Grammar is taught in special periods

» Grammar is integrated with the text and taught contextually

% Grammar is ignored

Question Number : 289 Question Id : 16794310591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 290 Question Id : 16794310592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the best option to complete the sentence.

Reflection on reading is said to be complete only when it includes:
Options:
% Rewriting the text

» Analysis and discussion
% Questions and answers

% Conducting a test

Question Number : 290 Question 1d : 16794310592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 291 Question Id : 16794310593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the best option to complete the sentence.

In certain cases of special attention or special needs, art form in teaching is also used as a technique for:
Options:
% Teaching

% Practice
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» Therapy

% Consulting

Question Number : 291 Question Id : 16794310593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT H G F & v FEes RweT I |

fae e a1 fae amaeTerans & $o A H, Reor 7 o Faww # o TOET aFAe w9 A
_ F ov e aa

Options:

« Tareyor

% I

Question Number : 292 Question Id : 16794310594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the options given below.

Performing arts helps in:
Options:

» Meaningful learning
% Memorising

« All students participating

% Decreasing student dropouts

Question Number : 292 Question Id : 16794310594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 293 Question Id : 16794310595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the right option.

A *byte” in a computer terminology consists of:
Options:

% 4 bits

+ 8 bits

% 106 bits

% 32 bits

Question Number : 293 Question Id : 16794310595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 294 Question 1d : 16794310596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the options below.

Individualised learning is a method in which the content, method and material are based on the:
Options:
« Teacher competency

# Learner needs

» Learner ability

% Curriculum requirements

Question Number : 294 Question Id : 16794310596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 295 Question Id : 16794310597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the right answer.

Subject-centred curriculum consisting of skills (three R’s) is the emphasis of:

Options:
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» Progressivism
% Existentialism

+ Essentialism

% Realism

Question Number : 295 Question Id : 16794310597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 296 Question Id : 16794310598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the right option.
Corrective feedback is most useful when it is:

Options:
% Reliable and subjective

» Immediate and specific
% Judgmental and vnambiguous

« Frequent and biased

Question Number : 296 Question Id : 16794310598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 297 Question 1d : 16794310599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Choose the correct answer from the options given below.

The relative measure of dispersion of the below is:

Options:

% Standard deviation

% Variance

« Range

« Coefficient of variation

Question Number : 297 Question Id : 16794310599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 298 Question 1d : 16794310600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct answer from the options to complete the sentence.

Development of an individual is a collective outcome of:
Options:

% Growth and maturity

» Maturity and learning

% Education and schooling

% School and family efforts

Question Number : 298 Question Id : 16794310600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 299 Question Id : 16794310601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Choose the right option from the list given below.

“Right of children to free and compulsory education to the children of 6-14 years age group including children with
special needs.” This is a provision mentioned in:

Options:
+« RIE Act

% Inclusive education policy

% Education for all Initiative

# SSA

Question Number : 299 Question Id : 16794310601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 300 Question Id : 16794310602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify from the given list the correct option.

Which of the following is a behavioural characteristic of mentally retarded individual?
Options:
» Immaturity in different social situations

% Increased attention span

% Special liking for something
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% Poor memory

Question Number : 300 Question Id : 16794310602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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